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Section : Discipline Question

Q.1 Under Customs Law, for determining the rate of exchange for converting tariff value / wansaction value of imported
goods into Indian rupees, the date relevant shall be

Ans 3 1. the date of filing the shipping bill
« 2. the date of filing the bill of entry
/< 3. the date of clearance of goods

/< 4. the date when the goods crossed the customs barrier

Question ID : 1501837932
Status : Answered
Chosen Option : 2

Q.2 Pari financed a motor cyele to Sejal (unregistered person) on 1 July 2018 for  90,000. On failure to repay the
installments, Ranvijay took repossession of the motor cycle on 1 December 2018. The motor cyele was sold by
Ranvijay on 5 April 2019 for ¥ 75,000, Calculate the taxable value of supply under GST Act.

Ans of 1. F 3,000
X 2 75,000
2 3. 76,000
X 4. 10,000

Question ID : 1501837937
Status : Not Answered
Chosen Option : ==

Q.3 Futura Ltd. had the following items under the head ‘Reserves and Surplus’ in the Balance Sheet as on 31T March 2018:

(i) Securities Premium Account= Z 80 lakhs

(ii) Capital Reserve = Z 60 lakhs

(ili)  General Reserve = Z 90 lakhs
The company had an accumulated loss of ¥ 250 lakhs on the same date. which it has disclosed under the head
‘Statement of Profit and Loss” as asset in its Balance Sheet.

What should be the correct treatment in line with Schedule IIT of Companies Act 2013?

Ans X1_

Reserves and surplus should be shown credit of ¥ 140 lakhs and Accumulated loss should be adjusted with General
reserve and should be shown as Asset of T 160 lakhs.

52

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/125801992/125801992S3D1631/1559019681388187/1571...  1/65



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

29/05/2019 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1/125801992/125801992S3D1631/1559019681...

Reserves and surplus should be shown credit of ¥ 90 lakhs and Accumulated loss should be adjusted with Securities
premium and Capital reserve and should be shown as Asset of T 110 lakhs.

o 3

Reserves and surplus should be shown as negative Z 20 lakhs

7% 4. The treatment done by Futura Limited is correct.

Question ID : 1501837846
Status : Answered

Chosen Option : 3

Q.4 Asper of the Companies (Cost records and audit) Rules, 2014, the different classes of companies, engaged in
the production of goods or providing services, having an overall turnover from all its products and services of ¥ 35 crore
or more during the immediately preceding financial year, shall be required to include cost records in their books of
account.

Ans 1. Rule 9
v 2 Rule3
X 3 Rule 2
X 4 Rule 8

Question ID : 1501837958
Status : Answered
Chosen Option : 2

Q.5 RG Private Limited provides the following particulars relating to goods sold by it to GK Private Limited:

(i) List price of goods (exclusive of taxes and discounts) =3 5,00,000

(if)  Tax levied by municipal authority on sale of such goods =3 50,000

(iii) CGST and SGCT chargeable on the goods =¥ 1,00,440

(iv)  Packing charges (not included in price above) =3 10,000

(v)  RG Private Limited received ¥ 20,000 as a subsidy from a NGO on sale of such goods. The price of
< 5.00,000 of the goods is after considering such subsidy.

(vi) RG Private Limited offers 294 discount on the list price of the goods which is recorded in the invoice for the
goods.

Determine the value of taxable supply made by RG Private Limited under GST Act.

Ans % 1. F 520,000
2 2. 7 5,80,000
v 3. %5,70,000
4. % 5,50,000

Question ID : 1501837940
Status : Not Answered
Chosen Option : --

Q.6 As per Section 5 (Computation of available surplus) of Payment of Bonus Act 1965, the available surplus in respect of
any accounting year shall be the for that year after deducting therefrom the sums referred to in Section 6.

Ans 3 1. net profits after tax

W 2. gross profits
#< 3. bank balance
/< 4. net profits

Question ID : 1501837905
Status : Answered
Chosen Option : 2

Q.7 Calculate the amount of actual sales when profit is ¥ 20,000, breakeven point 50,000 and fixed cost is ¥ 25,000.

Ans o f 13 00,000
2 2. 275,000
% 3. 750,000
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2 4. 25,000

Question ID : 1501837881
Status : Answered
Chosen Option : 1

Q.8 A sumof310.00,000 is received from an insurance company in respect of a claim for loss of goods in transit costing ¥ 8,00,000.
The amount is credited to the Purchases Account. As an auditor, what should be the right treatment out of the following given options?

Ans 3 1. The amount should be included in Closing Stock
X 2

The amount should be credited to the Sales Account and should not be reduced from the Purchases Account

X 3.
Crediting the amount to the purchase account is the right move
v

A separate disclosure must be given in the statement of the Profit or Loss Account under an appropriate head

Question ID : 1501837952
Status : Answered
Chosen Option : 4

Q.9 The Managing Director of M/s Raj Udyog Ltd. (other than government company) himself wants to appeint Ganpati, a
practicing Chartered Accountant, as first auditor of the company which is in contravention of the Section 139(6) of
Companies Act 2013. Section 139(6) of Companies Act 2013 authorises the to appoint the first auditor of the
company.

Ans X 1. Central Government
/< 2. Manager

/< 3. Reserve Bank of India
v 4 Board of Directors

Question ID : 1501837955
Status : Answered
Chosen Option : 4

061 Batch costing is a type of
Ans 3 1. process costing

+ 2. job costing

/< 3. direct costing

/< 4. differential costing

Question ID : 1501837882
Status : Answered
Chosen Option : 2

Q.1 A secured creditor may enforce any security interest created in his favour, without the intervention of as per
41  Section 13(1) of the Securitisation and Reconstruction of Financial Assets and Enforcement of Security Interest Act,
2002.
Ans : £
< 1. Director

/X 2. central government

' 3. any court or tribunal
/< 4. stock exchange

Question ID : 1501837899
Status : Answered
Chosen Option : 1
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Q.1 As per Schedule III of Companies Act 2013, Guarantees is to be shown under the heading of
2

Ans 1. Other current liabilities
/< 2. Current liabilities
« 3. Contingent liability

x 4. Other current assets

Question ID : 1501837852
Status : Answered
Chosen Option : 1

Q.1 Intwo consecutive periods, sales and profit were ¥ 1,60,000 and Z 8,000, respectively in the first period and Z 1,80,000
3 and ¥ 14,000, respectively during the second period. If there is no change in fixed cost between the two periods, P/V
ratio must be:

Ans (1. 40%
X 2. 20%
v 5 30%
X 4 25%

Question ID : 1501837883
Status : Answered
Chosen Option : 3

Q.1 The appeal to High Court under Section 260A of Income Tax Act 1961 shall be filed within days from the date
4 onwhich the order appealed against is received by the assessee or the principal chief commissioner or chief
commissioner or principal commissioner or commissioner.

Ans x1_ 60
< 2 30
< 3 90
v 4 120

Question ID : 1501837921
Status : Answered
Chosen Option : 1

Q.1 As per Section 63 of the Companies Act, 2013, a company cannot issue fully paid-up bonus shares to its members out
5 of

Ans 3 1. capital redemption reserve account
/< 2. securities premium account

/< 3. its free reserves

+ 4 debenture redemption reserve account

Question ID : 1501837956
Status : Answered
Chosen Option : 4

Q.1 Calculate the machine-hour rate for a machine from the following information:
6 (i) Cost of machine =3 90,000
(ify  Other charges i.e. freight and installation =3 10,000
(iii) Working life = 10 years
(iv)  Working hours = 2000 per year
(v)  Repair charges = 50% of depreciation
(vi)  Power =10 units per hour @ 10 paise per unit
(vil) Lubricating oil = @ ¥ 2 per day of 8 hours
(viii) Consumable stores = @ T 10 per day of 8 hours
(ix) Wages of operator = (@ T 4 per day
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Ans  of 1. 10.50
X 2 11.50
X 31025
X4 875

Question ID : 1501837867
Status : Not Answered
Chosen Option : ==

Q1 During the year 2015, Action Shine Limited held four meetings of the Board of Directors on ppd January 2015,
7 10t May 2015, 16™ October 2015 and 315 December 2015.

Which section of the Companies Act 2013 did Action Shine Limited violate?

Ans  of 1. Section 173
/< 2. Section 169
< 3. Section 172
< 4. Section 170

Question ID : 1501837887
Status : Not Answered
Chosen Option : --

Q.1 Asper of the Companies (Cost records and audit) Rules, 2014, every company under these rules including all
8 units and branches thereof, shall, in respect of each of its financial year commencing, is required to maintain cost
records in form CRA-1.

Ans of 1. Rule 5

X 2 Rule 2
X 3. Rule 3
X 4 Rule 7
Question ID : 1501837957
Status : Answered
Chosen Option : 3
Q.1 means the insurance of part of one insurer’s risk by another insurer who accepts the risk for a mutually

9 acceptable premium as per Section 2(16B) of the Insurance Act 1938.

Ans 1. Insurance
+ 2. Re-insurance
7< 3. Health insurance

/< 4 Medical insurance

Question ID : 1501837898
Status : Answered
Chosen Option : 2

Q.2 shyam has taken a loan of  5,00,000 for construction of property on 1 October 2017. Interest was payable @ 10% p.a.
0 The construction was completed on 30 June 2018. No principal payment has been made up to 31 March 2019. Compute
the interest allowable as deduction under Section 24 of Income Tax Act 1961 for AY 2019-20.

Ans 1. F 50,000
W 2. % 55,000
2 3. 275,000
2 4. 725,000

Question ID : 1501837911
Status : Answered

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/125801992/125801992S3D1631/1559019681388187/1571...  5/65


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

29/05/2019 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/125801992/125801992S3D1631/1559019681...
l Chosen Option : 1 J

°1'2 Which of the following is NOT a model of Corporate governance?

Ans o 1. Russian Model
/< 2. Japanese Model

/< 3. Anglo Saxon Model
#< 4 German Model

Question ID : 1501837859
Status : Answered
Chosen Option : 3

Q.2 Investing activities are the acquisition and disposal of and other investments not included in cash equivalents as
2 per Accounting Standard 3 Cash flow statements.

Ans 3 1. long term borrowings
7< 2. share capital
' 3. long term assets

x 4. current assets

Question ID : 1501837855
Status : Answered
Chosen Option : 3

Q.2 saini received retrenchment compensation of Z 10 lakhs after 30 years and four months of service. At the time of
3 retrenchment. he was drawing a basic salary of ¥ 20,000 per month and dearness allowance of ¥ 6000 per month.
Calculate his taxable refrenchment compensation for AY 2019-20 under Income Tax Act 1961.

Ans of 1 F 550,000
2 2. %5,00,000
3. %5,25,000
X 4. 74,50,000

Question ID : 1501837910
Status : Answered
Chosen Option : 1

Q.2 Sohan Lal, a known smuggler, was caught when transferring funds for the illegal export of narcotic drugs from India to
4 some countries in Africa. State the maximum punishment that can be awarded to him under proviso to Section 4 of
Prevention of Money Laundering Act 2002.

Ans 3¢ 1. Maximum imprisonment which may extend to 12 vears
/< 2. Maximum imprisonment which may extend to 8 vears
+ 3. Maximum imprisonment which may extend to 10 years

/< 4. Maximum imprisonment which may extend to 6 years

Question ID : 1501837892
Status : Answered
Chosen Option : 1

Q.2 consist of evaluations of financial information made by a study of plausible relationships among both, financial
5 and non-financial data.

Ans 5 1. Inspections
« 2. Analytical Procedures
/< 3. Inquiries
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75 4. Re-performances

Question ID : 1501837946
Status : Answered
Chosen Option : 2

Q2 Accounting Standard 24 deals with
Ans 3 1. related party disclosures

+ 2. discontinuing operation

/< 3. intangible assets

/< 4. accounting for taxes on income

Question ID : 1501837861
Status : Answered
Chosen Option : 2

Q.2 A firm has paid  7,50,000 as remuneration to its partners for the previous year 2018-19, in accordance with its
7  partnership deed and it has a book profit of 2 10,00.000. What is the amount of remuneration disallowed as per Section
40(b)(v) of Income Tax Act 19612

Ans 1. 3 7,50,000
< 2. 7 6,90,000
W 3. 760,000
2 4. % 1,00,000

Question ID : 1501837913
Status : Answered
Chosen Option : 2

Q.2 Sstandard time allowed for a job is 20 h at the rate of ¥ 2 per hour. Actual time taken by a worker is 15 h. Calculate the
8 effective wage rate per hour under Halsey plan.

Ans X 1. 2.00
X2 133
X 3. 2.66
v 233

Question ID : 1501837866
Status : Answered
Chosen Option : 4

Q.2 Variable cost is 80% of sales and margin of safety is 40%. What is the amount of fixed cost if sales are ¥ 2,00,0007

9
Ans 1. F 1.60,000
X 2. 7 80,000
2 3. %1,20.000
4 % 24,000
Question ID : 1501837878
Status : Answered
Chosen Option : 4
Q.3
0
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Calculate the amount of profit/loss to be transferred to the Profit and Loss account from the following information:
(i) Contract price =% 20,00.000
(i) Cost incurred =2 11.20,000
(iii)  Cash received =% 10.80.000
(iv)  Work not certified =2 1.20,000
(V) Deduction from bills by way of Security deposit = 10%

Ans X 1. F 75,000
W 2. 7 1,20,000
2 3. % 1,00,000
X 4. 760,000

Question ID : 1501837870
Status : Not Answered
Chosen Option : ==

Q.3 As per Section 66 of the CGST Act 2017, the special audit under GST must be conducted by a
1

Ans «1_

chartered accountant or a cost accountant so nominated by the commissioner

/< 2. chartered accountant

p 3

chartered accountant or a cost accountant so nominated by the registered person

/< 4. cost accountant

Question ID : 1501837942
Status : Answered
Chosen Option : 3

Q.3 A property costing  10,00,000 is bought in 2016. Its estimated total physical life is 50 years.
2

However, the company considers it likely that it will sell the property after 20 years. The estimated residual value in 20
years' time, based on 2016 prices, is  9,00.000.

Calculate the amount of depreciation per vear as per straight line depreciation method.

Ans 1 F 50,000
2 2. 220,000

W 3 25,000
X 4 % 10,000
Question ID : 1501837844
Status : Answered
Chosen Option : 3
Q.3 As per Section 16 of Indian Contract Act 1872, a contract is said to be induced by where the relations

3 subsisting between the parties are such that one of the parties is in a position to dominate the will of the other and uses
that position to obtain an unfair advantage over the other.

Ans  of 1. undue influence
X< 2. fraud
/< 3. consent

75 4. coercion

Question ID : 1501837889
Status : Answered
Chosen Option : 4

Q.3 What is the full form of *CAAT"? This technique is required in Computerised Information System.
4

Ans X 1. Clear audit along techniques
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« 2. Computer-aided audit techniques

/< 3. Computerised additional audit techniques
/< 4. Computer-aided additional techniques

Question ID : 1501837947
Status : Answered
Chosen Option : 2

Q.3 As per Schedule III of Companies Act 2013, money received against share warrants must be shown under the heading
5 of

Ans 1. Other current liabilities
/< 2. Other current assets
/< 3. Share capital

+ 4 Shareholders fund

Question ID : 1501837848
Status : Answered
Chosen Option : 3

Qb:?’ Which of the following is NOT a theory of Corporate Governance?
Ans 5 1. Stewardship theory

« 2. Excellence theory

/< 3. Agency theory

/< 4. Stakeholder theory

Question ID : 1501837856
Status : Answered
Chosen Option : 2

Q.3 Determine the time of supply from the following particulars under GST Act:
7 (i) Booking of India Habitat Centre (IHC) Conference hall, for agreed sum of ¥ 75,000
(ii) Advance received by IHC T 25,000 on 15 October 2018
(iii) Function held in Conference Hall on 14 November 2018
(iv) Invoice issued for T 75,000 by IHC, and after deduction of advance balance payable T 50.000 on 20
December 2018
(v) Balance payment received ¥ 50,000 on 25 December 2018

Ans x 1.
Time of supply of service is 14 November 2018 for T 75,000

X 2
Time of supply of service is 20 December 2018 for Z 75,000
503

Time of supply of service is 14 November 2018 for T 25,000 and 20 December 2018 for ¥ 50,000

W 4

Time of supply of service is 15 October 2018 for ¥ 25,000 and 14 November 2018 for T 50,000

Question ID : 1501837939
Status : Not Answered
Chosen Option : --

Q.3 Which section of Companies Act 2013 requires every listed company to appoint an internal auditor?
8

Ans o 1. Section 138
/< 2. Section 139
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/< 3. Section 137
/< 4. Section 136

Question ID : 1501837948
Status : Answered
Chosen Option : 3

%® Cost audit is covered by of Companies Act 2013.

Ans X 1. Section 147
v 2. Section 148
X 3. Section 162
X 4. Section 151

Question ID : 1501837962
Status : Not Answered
Chosen Option : --

Q.4 The first meeting of the committee of creditors shall be held within days of the constitution of the committee
0 of creditors as per Section 22 of the Insolvency and Bankruptey Code 2016.

Ans x1_ 3
v27
X310
<4 30

Question ID : 1501837902
Status : Not Answered
Chosen Option : --

Q.4 What is the maximum amount of deduction available under Section 80C of Income Tax Act 1961 for AY 2019-20?
1

Ans 5 1. F 2,00,000
v 2. % 1,50,000
2< 3. % 3,00.000
X 4 %2,50,000

Question ID : 1501837919
Status : Answered
Chosen Option : 2

Q.4 Gautam received 100 shares of ABC Limited from his friend as a gift on the occasion of his 25th marriage anniversary.
The fair market value on that date was T 100 per share. He also received jewellery worth ¥ 45,000 (FMV) from his
nephew on the same day. What will be the taxable amount in the hands of Gautam under Section 56 (2)(x) of the
Income Tax Act 19617

Ans 5 1. F 45,000
o 2. 55,000
> 3. % 10,000
/< 4. Nothing is taxable

Question ID : 1501837914
Status : Answered
Chosen Option : 3

Q.4 How should the Input tax credit of IGST be utilized against Output liability under GST Act?
3
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Ans x1.

First against IGST Output Liability. second against SGST Liability, then against CGST Liability, then against UTGST
Liability

o 2

First against IGST Output Liability, second against CGST Liability, then against SGST Liability, then against UTGST
Liability

X 3.

First against IGST Output Liability, second against UTGST Liability. then against CGST Liability, then against SGST
Liability

&4

First against IGST Output Liability, second against SGST Liability, then against UTGST Liability. then against CGST
Liability

Question ID : 1501837945
Status : Answered
Chosen Option : 2

Q.4 Ason 31 March 2016, there was a claim for damage from one of the customers against a company engaged in selling of
4 accounting software for an alleged failure to provide satisfactory after-sales services in relation to the software
purchased from it.

Before finalisation of the accounts for the year ended 31 March 2016 (the accounts were finalised on 14 June 2016), the
company won the case and had no liability whatsoever in this regard. The company has made a provision for this

contingent liability in its accounts for the year ended 31 March 2016, which. it says, will be reversed in the next year.

What, as an auditor, will be your advice to the company?

Ans 3 1. Company has correctly created the provision

X 2

Instead of provision, company should pay the amount to the party as company has not provided after-sales service.

W 3

No provision is required to be made; however, a disclosure of the case is necessary.

7% 4. No provision and no disclosure is required.

Question ID : 1501837950
Status : Answered
Chosen Option : 3

Q.4 As per Rule 6 of the Companies (Cost records and audit) Rules, 2014, any casual vacancy in the office of a cost
5 auditor — whether due to resignation, death or removal — is to be filled by the Board of Directors within thirty days of
occurrence of such vacancy. The company shall inform the in Form CRA 2 within thirty days of such
appointment of cost auditor.

Ans X 1. Cost auditor

v 2. Central Government
< 3. State Government

< 4 Reserve Bank of India

Question ID : 1501837960
Status : Answered
Chosen Option : 2

Q.4 Raj Sinha, an individual, borrowed % 20,00,000 for repair of his self-occupied house property and paid interest of
6 ¥1.60.000 thereon during the financial year 2018-19. What is the amount of interest allowable as deduction under Section
24 of Income Tax Act 1961 for AY 2019-20?

Ans > 1. F 1,60,000
W 2. 730,000
2 3. 2,00,000
X 4. 24,000

Question ID : 1501837912
Status : Answered
Chosen Option : 1
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Q.4 Mz X has the following income for previous year 2018-19:
7 (i) Income from the activity of owning and maintaining race horses = ¥ 75,000

(ii)y  Income from textile business= % 85,000

(iii)  Brought forward textile business loss = ¥ 50,000

(iv)  Brought forward loss from the activity of owning and maintaining race horses = T 96,000 (relating to AY

2016-17)
‘What is the total income of Mr. X for AY 2019-20 under Income Tax Act 19617

Ans X 1. F 14,000
2 2. 7 1,10,000
W 3 % 35,000
X 4. 785,000

Question ID : 1501837918
Status : Answered
Chosen Option : 3

Q.4 What is the value of supply of lottery run by the State Governments under Rule 31A of CGST Rules 20177
8

Ans «1_

100/112 of the face value of ticket or price as notified in official Gazette by organising state, whichever is higher

&2

100/128 of the face value of ticket or price as notified in official Gazette by organising state, whichever is lower

53

100/112 of the face value of ticket or price as notified in official Gazette by organising state, whichever is lower

&4

100/128 of the face value of ticket or price as notified in official Gazette by organising state, whichever is higher

Question ID : 1501837929
Status : Not Answered
Chosen Option : --

Q4 The Customs Act 1962 extends to the:

Ans 3 1. whole of India except Jammu and Kashmir
« 2. whole of India including the territorial waters of India
/< 3. whole of India including Indian custom rates

/< 4 whole of India

Question ID : 1501837934
Status : Answered
Chosen Option : 1

Q.5 Cash receipts from royalties, fees, commissions and other revenue is activity as per Accounting Standard
0 3 cash flow statements.

Ans o 1. operating
/X 2. financing
/X 3. investing
& 4 standard

Question ID : 1501837854
Status : Answered
Chosen Option : 1

Q.5
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Ans x1

Srikant has two sons. He is in receipt of children education allowance of ¥ 150 per month for his elder son and T 70 per

Compute his taxable allowances for AY 2019-20 under Income Tax Act 1961,

X 2 729,400
2 3. 728,200
4 725800

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/125801992/125801992S3D1631/1559019681....

respect of his younger son. Both his sons are going to school. He also receives the following allowances.
Transport allowance = ¥ 1,800 per month
Tribal area allowance = T 500 per month

. 730,240

Question ID : 1501837909
Status : Not Answered
Chosen Option : ==

Q.5 Which
2

Ans « 1

/< 2. Section 139(4E)
/< 3. Section 139(4D)
/< 4. Section 139(4C)

section of Income Tax Act 1961 governs the filing of return of income by investment fund?

- Section 139(4F)

Question ID : 1501837915
Status : Not Answered
Chosen Option : --

Q.5 As per Section 42 of the Prevention of Money Laundering Act 2002, any person aggrieved by any order of the
3 Appellate Tribunal may file an appeal to the High Court within from the date of communication of the order of
the Appellate Tribunal.

Ans 3 1. 30 days
W 2. 60 days
/< 3. 75 days
/< 4. 90 days

Question ID : 1501837893
Status : Answered
Chosen Option : 2

4 (i)
(i)
(iii)
(v)

Q.5 During the previous year 2018-19, Kailash had the following income and brought forward losses:

What is the capital gain taxable in the hands of Kailash for AY 2019-20 under Income Tax Act 19617
Ans o f 1% 1,13,000
< 2. 7 1,88,000
X 3. 275,000
2 4. % 1,50,000

Short-term capital gain on sale of shares =  1,50,000

Brought forward long-term capital loss of AY 2017-18 = Z 96,000
Short-term capital loss of AY 2018-19 = Z 37,000

Long-term capital gain = Z 75,000

Question ID : 1501837917
Status : Answered
Chosen Option : 1

Q.5

5  share capital in the case of a company) and borrowings of the enterprise as per Accounting Standard 3 cash flow
statements.

are activities that result in changes in the size and composition of the owners” capital (including preference
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Ans 3 1. Investing activities

/< 2. Operating activities
< 3. General activities
+ 4. Financing activities

Question ID : 1501837853
Status : Answered
Chosen Option : 4

Q.5 Incase of appeal made to Commissioner (Appeals) under Income Tax Act, where computed total income of the assessee
6 is more than % 2,00,000, the appeal shall be accompanied by a fee of:

Ans X' 1. %250
v 2. 7 1000
X 32500
X 4 2750

Question ID : 1501837920
Status : Answered
Chosen Option : 3

Q.5 As per Section 9 of the Negotiable Instruments Act 1881, means any person who for consideration became the
7 possessor of a promissory note, bill of exchange or cheque if payable to bearer, or the payee or indorsee thereof, if
pavable to order before the amount mentioned in it became payable, and without having sufficient cause to believe that
any defect existed in the title of the person from whom he derived his title.

Ans X 1. Person in due course
/< 2. Holder
+ 3. Holder in due course

/< 4. Payment in due course

Question ID : 1501837904
Status : Answered
Chosen Option : 3

Q.5 Where a caveat has been lodged under Section 18C (1) of the Securitisation and Reconstruction of Financial Assets and
8 Enforcement of Security Interest Act, 2002, such caveat shall not remain in force after the expiry of a period of

days from the date on which it was lodged unless an application or appeal has been made before the expiry of

the said period.

Ans X 1. 120
v 2. 90
X 3 45
X4 75

Question ID : 1501837900
Status : Answered
Chosen Option : 2

Q.5 The SEBI chairman is to be appointed by
9 1992,

as per Section 4 of the Securities and Exchange Board of India Act,

Ans 3 1. Group of stock exchanges

/< 2. Reserve Bank of India
X 3. CAG

+ 4 Central Government

Question ID : 1501837896
Status : Answered
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l Chosen Option : 4 J

Q.6 Under Goods and Services Tax Act, the best judgment order passed by the proper officer shall automatically stand
0 withdrawn if the taxable person furnishes a valid return for the default period

Ans x 1.
within 7 days of the receipt of the best judgment assessment order

X 2
within 15 days of the passing of the best judgment assessment order

X 3.
within 15 days of the receipt of the best judgment assessment order

o 4
within 30 days of the receipt of the best judgment assessment order

Question ID : 1501837936
Status : Not Answered
Chosen Option : ==

Q1-6 Section 33 of the Insolvency and Bankruptcy Code 2016 deals with

Ans o 1. initiation of liquidation
/< 2. submission of resolution plan
/< 3. approval of resolution plan

/< 4. preparation of information memorandum

Question ID : 1501837903
Status : Not Answered
Chosen Option : --

Q.6 Under Goods and Services Tax Act, a taxable person has to maintain his records for a period of
2

Ans x1_

expiry of 36 months from the due date of filing of annual return for the vear

&2

expiry of 48 months from the due date of filing of annual return for the year

v

expiry of 72 months from the due date of filing of annual return for the vear

&4

expiry of 96 months from the due date of filing of annual return for the vear

Question ID : 1501837943
Status : Answered
Chosen Option : 4

Q.6 As per Schedule III of Companies Act 2013, while making statement of profit or loss, tax expense is to be shown as:
3

Ans X 1. Provision for tax and then Advance tax
+ 2. Current tax and then Deferred tax

/< 3. Tax for the year and then Deferred tax

75 4. Deferred tax and then Provision of tax for the current vear

Question ID : 1501837864
Status : Answered
Chosen Option : 3
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Q.6 As per Schedule IIT of Companies Act 2013, Shares Options Outstanding Account must be shown under
4 the heading of

Ans 1. Shareholders fund
« 2. Reserves and Surplus

7< 3. Other current liabilities
7% 4. Share capital

Question ID : 1501837849
Status : Answered
Chosen Option : 4

Q.6 M/s Rexine Associates is a supplier of goods located in New Delhi. In December 2018. it imported ‘Business
5  Consultancy Services’ from China for a stipulated consideration of Z 5,00,000. The importation of service under Goods
and Service Tax Act shall be

Ans X 1. liable for CGST and SGST
/< 2. not liable for GST under reverse charge mechanism
# 3. not liable for GST at all
v 4 liable for IGST

Question ID : 1501837941
Status : Answered
Chosen Option : 4

Qés Which of the following statement related to cost accounting is FATLSE?
Ans 5 1. It helps in decision making.

/< 2. Tt reveals profitable and unprofitable activities.

« 3. It does not guide in fixing selling prices.

/< 4. Tt helps in cost control.

Question ID : 1501837877
Status : Answered
Chosen Option : 3

Q.6 Rakesh is a finance manager in M/s Sita Travels Private Limited. The company has provided him rent free unfurnished
7 accommodation in Mumbai. His particulars are as follows.

(i) Basic salary =3 6,000 per month

(ii)  Dearness allowance =T 2,000 per month (30% forming part of retirement benefits)

(iii) Bonus =% 1,500 per month

Even though the company allotted him the house on 1 April 2018, he occupied the same only from | November
2018. Calculate the taxable value of the perquisites for AY 2019-20 under Income Tax Act 1961.

Ans X" 1. F 4,050
X2 77,125
V'3 26075
X 4 714,580

Question ID : 1501837908
Status : Answered
Chosen Option : 2

Q.6 Cash payments for futures contracts, forward contracts, option contracts and swap contracts, except when the contracts
8 are held for dealing or trading purposes, are activity as per Accounting Standard 3 cash flow statements.

Ans 5 1. long term

/< 2. operating
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« 3 financing

/< 4. investing

Question ID : 1501837857
Status : Answered
Chosen Option : 4

Q.6 Inrespect of business combinations, IFRS 3 requires bargain purchase gain arising on business combination to be
9 recognised in profit or loss.

However, Ind AS 103 requires the same to be recognised in other comprehensive income and accumulated in equity as
, unless there is no clear evidence for the underlying reason for classification of the business combination as a

bargain purchase.
Ans 3 1. surplus
« 2 capital reserve
X 3. reserve

/< 4. general reserve

Question ID : 1501837862
Status : Answered
Chosen Option : 2

Q.7 What is the meaning of the term ‘subsequent events’ as used in Standard on Auditing (SA) 560.
0

Ans «1_

Subsequent events are events occurring between the date of the financial statements and the date of the auditor’s report

&2

Subsequent events are events occurring between the date of the financial statements and the date of filing the income tax
refurn

p 3

Subsequent events are events occurring between the 15 April of next vear and date of the financial statements

& 4

Subsequent events are events occurring between the 15 April of next year and the date of the auditor’s report

Question ID : 1501837951
Status : Answered
Chosen Option : 4

°1-7 The following information is given in respect to usage of component 7:

(i) Normal usage = 50 units per week each
(ii)  Minimum usage = 25 units per week each
(iil) Maximum usage = 75 units per week each
(iv)  Re-order quantity =500 units

(V) Re-order period = 2 to 4 weeks

Calculate maximum level of component Z.
Ans X 1. 650 units
< 2. 500 units
v 3. 750 units
< 4. 450 units

Question ID : 1501837869
Status : Not Answered
Chosen Option : --

Q7
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The following information is given in respect to usage of component A:

(i) Normal Usage = 50 units per week each
(ii)  Mininmmm Usage = 25 units per week each
(i) Maximum usage = 75 units per week each
(iv)  Re-order quantity = 300 units

(v)  Re-order period = 4 to 6 weeks

Calculate the minimum level of component A.

Ans X 1. 150 units
& 2. 250 units
' 3 200 units
< 4 300 units

Question ID : 1501837865
Status : Not Answered
Chosen Option : ==

03;7 SA 230 deals with
Ans 5 1. audit sampling

+ 2. audit documentation
/< 3. audit evidence
/< 4. related parties

Question ID : 1501837961
Status : Answered
Chosen Option : 1

Q.7 As per Section 36AB (1) of the Banking Regulation Act 1949, if the is of the opinion that in the interest of the
4 banking policy or in the public interest or in the interest of the banking company or in the interest of the depositors of
the banking company it is necessary so to do, it may, from time to time by order in writing, appoint, with effect from
such date as may be specified in the order, one or more persons to hold office as Additional Director of the banking
company.

Ans X 1. State Government
+ 2. Reserve Bank of India
7% 3. Comptroller and Auditor General of India

/< 4. Central Government

Question ID : 1501837891
Status : Answered
Chosen Option : 4

Q.7 In job costing, which of the following documents are used to record the issue of direct material to a job?
5

Ans 1. Purchase requisition

X 2. Goods received note
7% 3. Purchase order
« 4 Material requisition

Question ID : 1501837879
Status : Answered
Chosen Option : 4

Q.7 Under Customs Law, for determining the rate of exchange for converting tariff value / transaction value of export of
6 goods into Indian Rupees, the date relevant shall be
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Ans 3 1. the date of filing the bill of entry

&2

the date when the goods for exports crossed the customs barrier
/< 3. the date of clearance of goods for export

« 4 the date of filing the shipping bill

Question ID : 1501837930
Status : Answered
Chosen Option : 1

Q.7 Donald is a citizen of America. He came to India for the first time on 5 October 2000 for employment and stayed in
7 India until 31 March 2002. What would be his residential status during the financial year 2001-02 under Foreign
Exchange Management Act 19997

Ans o 1. Person resident outside India

/< 2. Person resident but ordinarily resident
/< 3. Person resident but not ordinarily resident

7% 4. Person resident in India

Question ID : 1501837901
Status : Answered
Chosen Option : 1

Q.7 As per Schedule IIT of Companies Act 2013, deferred tax assets (net) must be shown under the headingof
8

Ans X 1. Current asset
#< 2. Other current asset
X 3. Fixed asset
+ 4 Noncurrent asset

Question ID : 1501837847
Status : Answered
Chosen Option : 1

Q.7 A machine shop in a factory is working at its full capacity and earning a contribution of ¥ 50 per hour. The management
9 receives a high priority order, which it wants to execute immediately. Material will be supplied by the customer and the
special order will take a minimum of 10 h. Wages payable will be T 15 per hour and variable overhead will be 150% of
wages. If the customer is prepared to pay ¥ 800 for the order, which of the following is correct?

Ans o 1. Order should not be accepted as it gives loss of T 75
7< 2. Order should be accepted as it gives profit of ¥ 75
X 3.

Whether the order is accepted or rejected does not make a difference as it gives zero profit

/< 4. Order should be accepted as it gives profit of ¥ 150

Question ID : 1501837874
Status : Answered
Chosen Option : 4

Q.8 The following information is provided in respect of X Limited for the financial year 2018-19:
0 (i) Contribution per unit=3% 7
(ii)  Profit=2 3000
(iii)  Break-even point = 2000 units
Calculate the amount of contribution (in Rupees) of X Limited.

Ans  of 1 F 17,000
X 2. 20,000
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X 3 % 11,000

X 4. 14,000

Question ID : 1501837872
Status : Answered
Chosen Option : 4

Q.8 As per Section 19 of the Indian Contract Act 1872, when consent to an agreement is caused by coercion, fraud or

1 misrepresentation, the agreement is a contract at the option of the party whose consent was so caused.
Ans (1. Void
X 2 void ab initio
X3 Valid

+ 4 Voidable

Question ID : 1501837907
Status : Answered
Chosen Option : 4

Q.8 Calculate the amount of tax to be deducted at source (TDS) on payment made to Australian cricketer Ricky Ponting by a
2 newspaper for contribution to articles worth 25,000 under Section 194E of Income Tax Act 1961 for Assessment Year
2019-20.

Ans  of 1. %5200
X 2 33,750
X 33250
X 4 21,250

Question ID : 1501837924
Status : Answered
Chosen Option : 1

Q.8 Cash flows arising from interest paid and interest and dividends received in the case of a financial enterprise should be
3 classified as cash flows arising from activities, as per Accounting Standard 3 cash flow statements.

Ans & 1. investing
/< 2. financing
« 3. operating
< 4. standard

Question ID : 1501837860
Status : Answered
Chosen Option : 2

°4-8 Which of the following is NOT correct while verifying intangible asset?

Ans x1.

An auditor should also ensure that proper disclosure is made in the financial statements about the carrving amount,
amortisation methods, useful lives. etc.

&2

If an item covered does not meet the definition of an intangible asset, expenditure to acquire it or generate it internally is
recognised as an expense when it is incurred.

/< 3. An intangible asset should be measured at cost.

o 4
As per AS26, internally generated goodwill is recognised as an asset because it is an identifiable resource controlled by
the enterprise that can be measured reliably at cost.

Question ID : 1501837949
Status : Answered
Chosen Option : 4
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L )

Q.8 As per Schedule III of Companies Act 2013, Licenses and Franchises is to be shown under the heading of
5

Ans o 1. Intangible assets
/< 2. Reserves and surplus

/< 3. Other current liabilities
7% 4. Current assets

Question ID : 1501837851
Status : Answered
Chosen Option : 1

Q.8 The cost auditor shall submit the cost audit report along with his or its reservation or qualifications or observations or
6 suggestions. if any in

Ans X' 1. Form CRA 4
& 2. Form CRA 2
& 3. Form CRA 1
v 4 Form CRA 3

Question ID : 1501837959
Status : Answered
Chosen Option : 4

Q.8 As per Section 15 (Set on and set off of allocable surplus) of Payment of Bonus Act 1965, where for any accounting
7  vear, the allocable surplus exceeds the amount of maximum bonus payable to the employees in the establishment under
Section 11, then. the excess shall, subject to a limit of of the total salary or wages of the employees employed
in the establishment in that accounting year, be carried forward for being set on in the succeeding accounting year.

Ans X' 1. 25%
v 2 20%
X 3 5%
X 4 10%

Question ID : 1501837906
Status : Answered
Chosen Option : 2

Q.8 What is the threshold limit for no deduction of Tax deducted at source under Section 194H of Income Tax Act 1961 in
8  respect of commission or brokerage?

Ans 1. 15,000
2 2.2 10,000
X 3. 25,000
< 4. 220,000

Question ID : 1501837925
Status : Answered
Chosen Option : 3

%8 Section 279B of Income Tax Act 1961 deals with

Ans o 1. proof of entries in records or documents
/< 2. disclosure of particulars by public servant
/< 3. presumption as to culpable mental state

/< 4. presumption with regard to asset and books of account

g 3
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Question ID : 1501837923
Status : Answered
Chosen Option : 1

Q.9 Section 139(7) of the Companies Act, 2013 provides that in the case of a government company, the first auditor shall be

0 appointed by the Comptroller and Auditor-General of India within days from the date of registration of the
company.
Ans X 1.30

X215
X 3 45
v 4 60

Question ID : 1501837954
Status : Answered
Chosen Option : 4

°1'9 The Customs Act 1962 deals with imports and exports by:

Ans X 1. water
X 2. air
X 3. air and water
« 4. air. water and land route

Question ID : 1501837933
Status : Answered
Chosen Option : 3

Q.9 Ramesh, a registered person, supplied certain goods to Sunder, also a registered person. The tax is liable to be paid on
2 reverse charge basis. Other details are as follows:
(1) Date of receipt of goods by Sunder = 16 October 2018
(ii)  Date on which the payment is made and entered in the books of account by Sunder = 12 November 2018
(iii)  Date when the payment is debited in the bank account of Sunder = 14 November 2018
(iv)  Date of issue of invoice by Ramesh, the supplier = 10 October 2018
(v)  Date immediately following 30 days from the date of issue of invoice by the supplier = 10 November 2018
Determine the date of supply of goods under reverse charge basis.

Ans X 1. 10 October 2018
v 2. 16 October 2018
X 3. 14 November 2018
X 4. 12 November 2018

Question ID : 1501837927
Status : Answered
Chosen Option : 1

Q.9 The following are the qualifications for appointment as of Securities Appellate Tribunal as per Section 15M of
3 the Securities and Exchange Board of India Act, 1992.
(i) He should be a sitting or retired judge of the Supreme Court or a sitting or retired Justice of a High Court or

(ii) He should be a sitting or retired judge of a High Court who has completed not less than seven years of service as a judge
in a High Court.

Ans X 1. Member
X 2. Stock broker
« 3. Presiding Officer
< 4. Director

Question ID : 1501837897
Status : Answered
Chosen Option : 1

Q.9 Section 9 of the Securities Contracts (Regulation) Act, 1956 deals with
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4

Ans o 1. power of recognised stock exchanges to make bye laws

K2

power of Central Government to prohibit contracts in certain cases

K3

power of Central Government to suspend the business of recognised stock exchanges

/< 4. licencing of dealers in securities in certain areas

Question ID : 1501837895
Status : Not Answered
Chosen Option : --

Q.9 Bonanza Limited got its shares listed with a stock exchange. It has been regularly paying the listing fees.

5
Certain information about the shareholding pattern, among other things. was asked by the stock exchange, which the
company did not provide within the prescribed time even after further opportunity was given to the company, as the
company did not maintain any record.

What is the minimum penalty leviable against the company under Section 23A of Securities Contracts (Regulation) Act
19567

Ans 1. F 3,00,000
2. 7 5,00,000
W 3. 7 1,00,000
2 4. 750,000

Question ID : 1501837894
Status : Answered
Chosen Option : 2

Q.9 As per Section 141 of Companies Act 2013, who out of the following is eligible for appointment as an auditor?
6

Ans 3 1. An officer or employee of a company
/< 2. A corporate body
X 3.

A person who is the partner of an officer or employee of the company

W 4

In a firm, only the partners who are chartered accountants and are authorised to act and sign on behalf of the firm

Question ID : 1501837888
Status : Answered
Chosen Option : 4

Q.9 As per Accounting Standard 3 cash flow statements, Direct method or Indirect method can be used to report cash flow
7 from ?

Ans 3 1. investing activities
+ 2. operating activities
/< 3. financing activities

7% 4. standard activities

Question ID : 1501837858
Status : Answered
Chosen Option : 2

Q.9 As per Schedule III of Companies Act 2013, interest accrued but not due on borrowings is to be shown under the
8 heading of .

Ans o 1. Other current liabilities
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7% 2. Short term borrowings

/< 3. Current assets
/< 4. Noncurrent assets

Question ID : 1501837850
Status : Answered
Chosen Option : 1

%9 The following data pertains to Material Y
(i) Supply period = 4 to 8 months
(ii)  Consumption rate:
Maximum = 600 units per month
Minimum = 100 units per month
Normal = 300 units per month
Yearly= 3600 units

(lii)  Storage cost = 50% of stock value

(iv)  Ordering cost =2 400 per order

(v)  Price per unit of material =% 64

Calculate minimum stock level in respect of Material Y.

Ans o 1. 3000 units
& 2. 2500 units
< 3. 3500 units
& 4. 4500 units

Question ID : 1501837868
Status : Not Answered
Chosen Option : ==

Q.1 If the actual output is lower than the budgeted output, which of the following costs would you expect to be lower than
00 the original budget?

Ans  of 1. Total variable costs
< 2. Total fixed costs
/< 3. Fixed cost per unit

/< 4. Variable cost per unit

Question ID : 1501837885
Status : Answered
Chosen Option : 3

%‘11 Section 60 of the CGST Act deals with .

Ans X 1. gelf-assessment
/< 2. assessment of non-filers of returns

« 3. provisional assessment

/< 4. scrutiny of returns

Question ID : 1501837931
Status : Not Answered
Chosen Option : --

Q.1 What is the amount of penalty under Section 271BA of Income Tax Act 1961 for failure to furnish audit report as
02 required under Section 92E?

Ans
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W 1. % 1,00,000
2. 7 5,00,000
. 250,000

X 4. %2,50,000

Question ID : 1501837922
Status : Answered
Chosen Option : 1

Q.1 As per Schedule III of Companies Act 2013, a/an
03 processing and their realisation in cash or cash equivalents.

p 0
v
X 3
p

cycle is the time between the acquisition of assets for
Ans working
operating
enlarge

effective

Question ID : 1501837863
Status : Answered
Chosen Option : 2

QA1

o4 Ramesh, a company secretary, provides the following details:

(i)
(ii)
(iii)

Date of supply (Provision) of services = 15 October 2018
Date of issue of invoice = 18 November 2018
Date of receipt of payment = 24 November 2018

Determine the time of supply of services under GST Act.

Ans

v &)
X 2
X 3.
54

15 October 2018

24 November 2018
15 November 2018
18 November 2018

Question ID : 1501837944
Status : Answered
Chosen Option : 1

Q.1 M/s Sharma House (Punjab) books an order to supply tools to M/s Raj Mills of Kanpur (UP). M/s Sharma House places
05 the order on M/s Gedore Tools Limited (Delhi), the manufacturer of such tools and instructs M/s Gedore Tools Limited
to deliver the tools directly to M/s Raj Mills of Kanpur (UP) to save on transportation cost.

What is the place of supply of this transaction?

Ans X 1. Delhi
X 2. UP

« 3. Punjab
/< 4. Haryana

Question ID : 1501837926
Status : Answered
Chosen Option : 2

Q.1 Under Goods and Services Tax Act, where the tax liability as per the final assessment is higher than in
06 provisional assessment, the taxable person shall be liable to pay:

Ans  of 1. tax and interest

/< 2. tax and penalty
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/< 3. only the tax

/< 4. tax, interest and penalty

Question ID : 1501837938
Status : Answered
Chosen Option : 4

Q.1 A trader purchased certain articles for Z 85,000, He sold some of the articles for 2 1.05,000. The average percentage of
07 gross margin is 25% on cost. Opening stock of inventory at cost was T 15,000.

Calculate the cost of closing inventory.

Ans 1. F 20,000
X 2. 25,000
o 3 % 16,000
< 4.2 1,000

Question ID : 1501837843
Status : Answered
Chosen Option : 3

Q.1 Which of the following is the correct formula for cost volume profit analysis in cost accounting?
08

Ans o 1. Profit = Margin of Safety » Profit / Volume Ratio
7% 2. Margin of Safety= Profit = Profit / Volume Ratio
/< 3. Profit / Volume Ratio = Margin of Safety * Profit

X 4. Margin of Safety = Profit / Volume Ratio
Profit

Question ID : 1501837873
Status : Answered
Chosen Option : 1

Q.1 The total managerial remuneration payable to the directors and manager in respect of any financial year shall not exceed
09 of the net profits of the company for that financial year, as per Section 197(1) of Companies Act 2013.

Ans x1_ 1594
v 2 11%
X 3 10%
X 4 5%

Question ID : 1501837886
Status : Answered
Chosen Option : 2

Q.1 Read the following information and identify the total cost of flexible budget at 100% capacity.
10 (i) Production at 50% capacity = 5000 units

(ii) Raw Material = 2 80 per unit

(iii)  Direct Labour = 2 50 per unit

(iv)  Direct expenses = ¥ 15 per unit

(v)  Factory Expenses =¥ 50,000 (50% fixed)

(vi)  Administrative expenses = Z 60,000 (60% variable)

Ans  f 1.7 16,21,000
X 2. 15,40,000
3. 317,20,000
2 4.2 15,25,000

f 1
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Question ID : 1501837876
Status : Answered
Chosen Option : 1

Q.1 What are the major points that must be kept in mind while performing a special audit?

1 (i)  Constitution of the organisation
(ii)  Evaluation of the internal control system in the organisation
(iii) Examination of the accounting policies followed and the accounting records maintained
(iv)  Verification of assets and liabilities

Ans o 1. All (i).(ii), (iii) and (iv)
7% 2. Only (ii) and (iv)

7< 3. Only (i) and (ii)

7< 4. Only (i),(iii) and (iv)

Question ID : 1501837953
Status : Answered
Chosen Option : 1

?21 The classification of fixed and variable cost is useful for the preparation of

Ans 3 1. master budget

« 2. flexible budget
/< 3. capital budget

/< 4. cash budget

Question ID : 1501837880
Status : Answered
Chosen Option : 2

Q.1 Calculate the custom duty payable by the importer of goods from the following information:
13 (i) Assessable value u/s 14(1) =% 50,000

(ii)  Rate of basic custom duty = 10%

(iii)  Social welfare surcharge = 10% of BCD

(iv)  Rate of integrated tax = 18%

Ans X1 3 14,990
W 2 % 15,490
2379990
2 4. 5,500

Question ID : 1501837935
Status : Answered
Chosen Option : 2

Q.1 The closing inventory at cost of a company amounted to ¥ 2,84.700.
14

The following items were included at cost in the total:

(a) 400 coats, which had cost T 80 each and normally sold for ¥ 150 each. Owing to a defect in manufacture, they
were all sold after the balance sheet date at 50% of their normal price. Selling expenses amounted to 5% of the
proceeds.

(b) 800 skirts had cost T 20 each. These too were found to be defective. Remedial work in April cost T 5 per skirt,
and selling expenses for the batch came up to a total of 800. They were sold for ¥ 28 each.

‘What should the inventory value be according to Accounting Standard 2 after considering the above items?

Ans  of 1 F2.81,200
2 72,82,800
73 22.87,100
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X 4. 72.84,700

Question ID : 1501837845
Status : Not Answered
Chosen Option : --

Q.1 Rakesh supplies certain material to Satya Prakash on 11 December 2018 and raises the invoice on the same date. The
415 payment was received on 26 December 2018 and it was entered in Rakesh’s books of account on the same date and
credited in his bank account on 28 December 2018. What shall be the date of supply in this case?

Ans 1. 26 December 2018
v 2. 11 December 2018
< 3. 28 December 2018
7< 4. 10 January 2019

Question ID : 1501837928
Status : Answered
Chosen Option : 2

“1‘; Calculate the amount of fixed cost from the following information:
(i) Variable cost is 80% of sales
(iI) Margin of safety is 40%
(iii) Sales is ¥ 2,00,000

Ans 1. Z 12,000

/< 2. 240,000

W 3. 24,000

X 4.7 48,000

Question ID : 1501837875
Status : Answered
Chosen Option : 3

Q.1 As per proviso to Section 31 of the Banking Regulation Act 1949, the Reserve Bank of India may in any case extend the
417 period of three months for the furnishing of return by a further period not exceeding

Ans 1. five months
' 2. three months
< 3. four months
& 4. two months

Question ID : 1501837890
Status : Answered
Chosen Option : 2

Q.1 ABC Company that manufactures ball pens is working at 40% capacity producing 10,000 pens per year.
18 The cost of elements of each ball pen is as under:
(i) Material =% 20
(i) Labour=% 6
(iii) Overheads =3 10 (40% variable)
Each ball pen is sold for T 40. The selling price falls by 5% if production is at 90% capacity. The fall in selling prices is
accompanied by similar fall in material prices.

Caleulate the profit at 90% capacity using marginal costing approach.
Ans 5 1. 1,25.400
W 2. % 1,42,500
2< 3. %1,50.800
2 4 %1,32,500

4 )]
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Question ID : 1501837871
Status : Answered
Chosen Option : 2

Q.1 A manufacturer uses 400 units of a component every month and he buys them entirely from an outside supplier @ % 40
19 per unit. The order placing and receiving cost is ¥ 100 and storage cost and carrying cost is 15% of value of stock.
Calculate Economic Order Quantity (EOQ).

Ans X 1. 450 units
X 2. 500 units
X 3. 300 units
v 4 400 units

Question ID : 1501837884
Status : Answered
Chosen Option : 1

Q.1 Mr. B holds shares carrying 30% voting power in Y Ltd. Mrs. B is working as an accountant in Y Ltd. getting income

20 from salary per year (computed) of Z 3,44,000 without any qualification in accountancy. Mr. B also receives ¥ 30,000 as
interest on securities. Mrs. B owns a house property which she has let out. Rent received from tenants is ¥ 6,000 p.m.
Compute the gross total income of Mrs. B for the AY 2019-20 under the Income Tax Act 1961.

Ans X 1. % 4,16,000
2 2 %3,94,400
X 3. 772,000
W 4 750,400

Question ID : 1501837916
Status : Answered
Chosen Option : 4

Section : Reasoning Question

Q.1 Read the following information carefully and decide whether the given statements are true or false.

Dryland farming is the only way to not only combat recurring drought but also meet the increasing food requirements
of our country. About 45% of India’s total crop production now comes from drylands. By the end of this century, this
will have to increase to 60% if India is to provide adequate food for projected population of one billion by the turn of
the century.

Dryland farming is important for India.

Ans 5 1. Data inadequate
« 2. definitely true
/< 3. probably true
/< 4. definitely false

Question ID : 1501837987
Status : Answered
Chosen Option : 2

Q.2 Read the following information carefully and decide whether the given statements are true or false.

Dryland farming is the only way to not only combat recurring drought but alse meet the increasing food requirements
of our country. About 45% of India’s total crop production now comes from drylands. By the end of this century, this
will have to increase to 60% if India is to provide adequate food for projected population of one billion by the turn of
the century.

In India, the rate of growth of population is 25% per year.

Ans 3 1. Definitely false
« 2. Data inadequate
/< 3. Definitely true

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/125801992/125801992S3D1631/1559019681388187/157...  29/65



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Google Play

29/05/2019 https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1/125801992/125801992S3D1631/1559019681...

/< 4. Probably true

Question ID : 1501837988
Status : Answered
Chosen Option : 2

@3 Choose the Venn diagram that best illustrates the three given classes.
Indian, Japanese, Asian

Ans

F s

W 3

lelols

Question ID : 1501837997
Status : Answered
Chosen Option : 3

Q4 The capacity of a tank of dimensions 9 m * 7.5 m % 1.2 m will be:

Ans 1. 720001
v 2810001
X 375000 1
X 480000 |

Question ID : 1501838003
Status : Answered
Chosen Option : 2

Q.5 Which one of the pair of words given in the options shares the same relation as the pair given below does?
Donkey : Bray

Ans X 1. Cat : Kitten

< 2 Cock : Caw

v 3 Goat : Bleat

/< 4. Horse : Gallop

Question ID : 1501837994
Status : Answered
Chosen Option : 4
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\ J

Q.6 Ina city, 65% people are rice eaters, 40% people are wheat eaters and 25% are both rice and wheat eaters. What percent
of the people are neither rice eaters nor wheat eaters?

Ans x1. 1024
X 2. 25%
v 3 20%
X 4 5%

Question ID : 1501838002
Status : Answered
Chosen Option : 3

Q7 Find the simple interest on 210,000 at 5% per annum for 2 ¥ years.
Ans %1 31,050

X 2. 71,500
v 3 21,250
25 421,000
Question ID : 1501837974
Status : Answered
Chosen Option : 3
Q.8 If‘+ denotes *subtraction’, *—* denotes *addition’, *+* denotes *multiplication’ and *** denotes ‘division’, then what

will be the value of the given expression?

256X 8+244+6—-152

Ans J1_ 40
X2 78
X< 3 86
X 4 28

Question ID : 1501838008
Status : Answered
Chosen Option : 1

Q9 opog Februvary, 2004, it was a Saturday. What was the day of the week on a7t February, 20067
Ans 1. Tuesday

/< 2. Sunday
/< 3. Saturday
+ 4 Monday

Question ID : 1501837992
Status : Not Answered
Chosen Option : ==

Q61 Ifx% of x is 49, then x =2

Ans x1_ 0.7
X210
X7

v 4 70

Question ID : 1501837966
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Status : Answered
Chosen Option : 4

Q1'1 A human being always has
Ans X 1. hands

v 2. heart

X 3. legs

& 4 hair

Question ID : 1501837975
Status : Answered
Chosen Option : 2

Q.1 The length, breadth and height of a rectangular cuboid are 20 m, 5 m and 25 m respectively. If the length increases by
2  25%, breadth increases by 15%, and height decreases by 10%, what will be the corresponding increase or decrease in
the volume of the cuboid?

Ans X 1. 32.11%
v 2 2938%
X 3. 24.75%
X 4. 27.29%

Question ID : 1501838011
Status : Not Answered
Chosen Option : --

Q.1 Read the following information carefully and decide whether the given statements are true or false.

Dryland farming is the only way to not only combat recurring drought but also meet the increasing food requirements of
our country. About 45% of India’s total crop production now comes from drylands. By the end of this century, this will
have to increase to 60% if India is to provide adequate food for projected population of one billion by the turn of the
century.

Currently, 45% of India’s total crop production comes from drylands.

Ans 5 1. Probably true
/X 2. Definitely false
/< 3. Data inadequate
« 4. Definitely true

Question ID : 1501837989
Status : Not Answered
Chosen Option : --

Q.1 You are given a question and two statements. Identify which of the statements is/are sufficient to answer the question.

4
Question: What is the value of “Y°?

Statements:

(1) 20X = 12Y =528
(2) 145X + 60Y = 2640

Ans ?(1_

Statement (1) alone is sufficient to answer the question. but statement (2) alone is not sufficient.
v
Statements (1) and (2) together are not sufficient to answer the question.

53

Both statements together are sufficient to answer the question, but neither statement alone is sufficient.

&4

Statement (2) alone is sufficient to answer the question, but statement (1) alone is not sufficient.

[ |
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Question ID : 1501838006
Status : Answered
Chosen Option : 3

Q! Find the odd one from the following.
Ans X 1. Nest

& 2. Burrow

« 3. Neigh

< 4 Hive

Question ID : 1501837964
Status : Answered
Chosen Option : 3

Q.1 If X’s weight is 20% less than that of Y, then by what percent is Y's weight more than that of X?
6

Ans x1. 2804
X 2 30%
X 3. 20%
v 4 25%

Question ID : 1501837985
Status : Answered
Chosen Option : 4

Q.1 At present, the ratio of the ages of Rani and Vani is 4 : 5. After 5 years, Rani’s age will be 25 years. What is the age of
7  Vani at present?

Ans X 1. 22 years
/< 2. 28 years
W 3. 25 years
/< 4. 24 years

Question ID : 1501837969
Status : Answered
Chosen Option : 3

Q8-1 In the following series, one of the numbers does NOT fit. Find the INCORRECT number.

0, 3, 8, 15, 24, 35, 48, 62, 80, 99
Ans J1_ 62
X 2 35
< 3 99
X 448

Question ID : 1501838005
Status : Answered
Chosen Option : 1

Q.1 Rohini leaves home and faces north. She walks 33 m after running to the east and then turns left to walk for 16 m. Then,
9  she turns to her right and walks for another 30 m. Then, she turns to her right and walks for 32 m to reach the mall.

What is the distance she would have had to walk if she had taken a straight line path from her initial position to the
mall?

Ans x1_ 61 m
v 2 65m
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X3 72m
X 4 70m

Question ID : 1501838009
Status : Not Answered
Chosen Option : --

Q.2 Two statements are given, followed by a conclusion based upon them. Choose the alternative which best applies to the
0 given conclusion.
Statements:
L. Some students are weak in science.
II. All those, who are weak in science, are athletes.
Conclusion:
Some athletes are weak in science.
The conclusion drawn is:

Ans o' 1. definitely true
/< 2. either probably true or probably false
/< 3. definitely false

< 4 irrelevant

Question ID : 1501837984
Status : Answered
Chosen Option : 1

Q1-2 In the following series, one of the numbers does NOT fit. Find the INCORRECT number.

256, 128, 64,32, 16,8,4,2,0
Ans J1_ 0

<28

X 3128

X 4 64

Question ID : 1501837968
Status : Answered
Chosen Option : 1

@2 Which letter is inside all the three figures?

M
| O%)
R /T|Q
U Vv
Ans X1 N
X2P
v Q
X4 0
Question ID : 1501837979
Status : Answered
Chosen Option : 3
Q.2
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3 Read the following information carefully and decide whether the given statements are true or false.

Dryland farming is the only way to not only combat recurring drought but also meet the increasing food requirements
of our country. About 45% of India’s total crop production now comes from drylands. By the end of this century, this
will have to increase to 60% if India is to provide adequate food for projected population of one billion by the turn of
the century.

The per acre crop production is more in drylands than others.

Ans 5 1. definitely true
/< 2. probably true
« 3. Data inadequate
/< 4. definitely false

Question ID : 1501837986
Status : Not Answered
Chosen Option : --

Qf What is the number of prime numbers less than 207

Ans «1_ 8
X25
X3 7
X409

Question ID : 1501837971
Status : Answered
Chosen Option : 1

Q.2 A question is given, followed by two arguments numbered I and II. Decide which of the argument(s) is/are strong with
5  respect to the question.

Question:
Should government officers be transferred after one or two years?

Arguments:
1. Yes. They get friendly with local people and are manipulated by them.

II. No. By the time their policies and schemes start taking shape. they have to learn.
III. No. This will create a lot of administrative hassles and cause a lot of inconvenience.

Ans o 1. Only arguments II and III are strong
/< 2. Only argument I is strong

/< 3. All are strong

/< 4. Only arguments I and II are strong

Question ID : 1501838004
Status : Answered
Chosen Option : 2

Q.2 A student has to obtain 35% of the total marks to pass. He got 135 marks and failed by 40 marks. The maximum marks

6 iais .
Ans X 1. 350
X 2. 400
X 3. 550
v 4 500

Question ID : 1501837976
Status : Answered
Chosen Option : 4

Q.2 The average of seven consecutive numbers is 49. What is the largest of these numbers?
7
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Ans x1. 49
X2 50
V'3 52
X447

Question ID : 1501837993
Status : Not Answered
Chosen Option : --

Q.2 Two statements numbered I and IT are given. There may be cause and effect relationship between the two statements.
8 Read both the statements and choose the correct option.

Statements:
1. The prices of petroleum products dropped marginally last month.
II. The State Government reduced the tax on petrolenm products last month.

Ans  of 1. Statement I is the cause and statement I is its effect

&2

Both the statements I and II are effects of some commeon causes
/< 3. Both the statements I and II are independent causes

/< 4. Statement I is the cause and statement II is its effect

Question ID : 1501837977
Status : Answered
Chosen Option : 1

°9'2 The digit in the unit’s place in the square root of 16384 is

Ans x1_ 6
X2 2
X 3.
v

0 B

Question ID : 1501837981
Status : Answered

Chosen Option : 2

Q63 ‘Mango’ is related to “Fruit’, in the same way as “Whale’ is related fo

Ans X 1. Shark
' 2. Mammal
#< 3. Rodent
/X 4. Reptile

Question ID : 1501837972
Status : Answered
Chosen Option : 2

°1'3 Convert the following into vulgar fraction.

0.6
Ans x']. 3,.'4
V2 3/5
X3 25
X416

4 )]
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Question ID : 1501837991
Status : Answered
Chosen Option : 2

°2-3 How many pieces of length 125 cm can be cut from a rod 50 metre long?

Ans x1_ 35
v 2 40
X 3 48
X 4 45

Question ID : 1501837998
Status : Answered
Chosen Option : 2

°3;3 Select the Venn diagram that best illustrates the three given classes.

Violinists, Instrumentalists, Musicians

v 2

p 3

)

Q.3 A train moves past an electric post and a bridge 275 metre long in 10 seconds and 15 seconds respectively. What is the
4 speed of the train?

Ans (1. 185 kmh
X 2 188 km/h
& 3. 180 km/h
v 4 198 km'h

Question ID : 1501837963
Status : Answered
Chosen Option : 3

Question ID : 1501837999
Status : Not Answered
Chosen Option : --
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Q.3 A museum has an average of 610 visitors on Sundays and 250 visitors on other days. The average number of visitors per
5 day in a month of 30 days beginning with a Sunday will be

Ans X' 1. 325
v 2 310
X 3. 350
X 4. 365

Question ID : 1501837978
Status : Answered
Chosen Option : 2

Q.3 Kiran, Vimal and Naveen started a business by investing ¥1,35,000, ¥ 1,50,000 and 2 1,65,000 respectively. Find the
6  share of each (respectively), out of an annual profit of  60,000.

Ans X" 1. % 20,000; ¥ 22,000; ¥ 25,000
2< 2. 7 18,000: T 20,000; ¥ 21,000
W 2 % 18,000; ¥ 20,000; ¥ 22,000
2< 4. 20,000; T 21,000; T 22,000

Question ID : 1501837983
Status : Answered
Chosen Option : 3

Q.3 Three statements are given, followed by four conclusions numbered L 11, 11T and IV. Assuming the statements to be true,
7  even if they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s)
from the statements.

Statements:

No table is bed.

No bed is door.

All doors are chairs.

Conclusions:
I. No door is table.
1I. No chair is bed.

1II. No chair is table.
IV. All chairs are doors.

Ans 3 1. Only conclusion I and TI follow

/< 2. All of the conclusions follow
/< 3. Only conclusion III and IV follow

o 4 None of the conclusions follows

Question ID : 1501837996
Status : Answered
Chosen Option : 4

Q.3 A statement is given, followed by two assumptions numbered I and II. Decide which of the assumption(s) is/are implicit
8  inthe statement.

Statement:
‘Guests should be provided with dinner® — Anu tells Renu.
Assumptions:

I Unless told. dinner may not be provided.
II. Guests will stay during dinner time.

Ans 1. Only assumption II is implicit
75 2. Neither I nor II is implicit
/< 3. Only assumption I is implicit
+ 4 BothI and II are implicit

Question ID : 1501837980
Status : Answered
Chosen Option : 2
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Qf‘ Interchanging which two signs will make the following equation correct?

168—12+152 - 26X 6=10
Ans X 1. +and x

/A 2 +and+

V'3 +and-

X 4 +and -

Question ID : 1501838007
Status : Not Answered
Chosen Option : --

Q.4 Two statements are given, followed by two conclusions numbered I and II. Assuming the statements to be true, even if
0 they seem to be at variance with commenly known facts. decide which of the conclusions logically follow(s) from the
statements.
Statements:
All women are peacocks.
All peacocks are sparrows.
Conclusions:

1. All women are sparrows.
1. All sparrows are women.

Ans o 1. Only conclusion I follows

7< 2. Neither I nor II follows
/< 3. Both I and II follow
/< 4. Only conclusion II follows

Question ID : 1501837967
Status : Answered
Chosen Option : 1

Q.4 How many minutes will Vinith take to cover a distance of 250 metres, if he runs at a speed of 30 km/hr?

1

Ans 1. 34 min
X 2 Y4min
X 3 | min
v 4 14 min

Question ID : 1501837973
Status : Answered
Chosen Option : 4

Q.4 Which one of the pairs of words given in the options shares the same relation as the pair given below does?
2

Kuwait : Dinar

Ans 3 1. Japan : Yuan

7< 2. Iran : Dinar

/< 3. UK : Dollar

+ 4 Bangladesh : Taka

Question ID : 1501837965
Status : Answered
Chosen Option : 4

Q.4
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Choose the most suitable description about the following three words.

Judo, Karate, Taekwondo
Ans 3 1. They can be performed by actors only.
/< 2. They are performed in a studio
« 3. They are names of martial arts

/< 4. They are important events in the Olympic Games

Question ID : 1501838000
Status : Answered
Chosen Option : 3

Q.4 Ina birthday party. both chicken and fish were served. Some took only chicken and some took only fish. There were
4 some vegetarians who did not take either. The rest took both chicken and fish. Which of the following logic diagrams
correctly reflects this situation?

Ans

v &l

O

p 3

«~(0©

Question ID : 1501837990
Status : Answered
Chosen Option : 3

Q.4 Ravihas currency notes of Z 500, 2 200, Z 100 and 50 in the ratio of 16 : 28 : 34 : 17. The total amount of money
5 with Ravi is ¥ 53,550. How many notes of Z 50 does Ravi have?

Ans X 1. 2550
X 2. 850
X3 17
v 4 51

Question ID : 1501838012
Status : Not Answered
Chosen Option : --

Q.4 Find the angle between the hour hand and the minute hand of a clock when the time is 3.30.
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Question ID : 1501837995
Status : Answered
Chosen Option : 4

Q.4 Select the option that is related to the third term in the same way as the second term is related to the first term.
7
INDIA : DELHI :: BELGIUM :

Ans X' 1. BELGRADE
X 2. ANTWERP
v 3 BRUSSELS
X 4 MALE

Question ID : 1501838010
Status : Answered
Chosen Option : 3

Q.4 20 women can do a task in 16 days. 16 men can complete the same task in 15 days. What is the ratio of the capacity of a
8 mantoa woman?

Ans of 1. 4:3
X25:3
X33:5
X4 3:4

Question ID : 1501837982
Status : Answered
Chosen Option : 3

%* Find the missing term in the following series.

2,9, 28, 65, 126, 217,
Ans 1. 208

v 2 344

X 3343

X 4354

Question ID : 1501838001
Status : Not Answered
Chosen Option : --

Q.5 Which one of the pair of numbers given in the options shares the same relation as the pair given below does?

0
121: 10

Ans X 1. 225: 15
v 2 19613
X 3169: 11
X 4 256:17

[ |
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Question ID : 1501837970
Status : Not Answered
Chosen Option : --

Section : General Knowledge

Q.1 In which state of India is the ancient site Kalibangan. of Indus Valley civilisation, situated?
Ans 3 1. Gujarat

« 2. Rajasthan
/< 3. Haryana
7% 4. Punjab

Question ID : 1501838030
Status : Not Answered
Chosen Option : --

Q.2 Which of the following articles of the Constitution of India deals with annual financial statement?
Ans X 1. Article 211
X 2. Article 160
X 3 Article 214
v 4 Article 202

Question ID : 1501838017
Status : Not Answered
Chosen Option : --

Q.3 Who among the following gives decision on questions as to disqualifications of members of a House of the Legislature
of a State under Article 192 of the Constitution of India?

Ans 1. The Chief Justice of India
+ 2. The Governor of a state
/< 3. The Speaker of the Legislative Assembly

7% 4. The President of India

Question ID : 1501838032
Status : Answered
Chosen Option : 1

Q4 ¥Which is the state animal of Uttarakhand?
Ans 3 1. Spotted deer

2. Chinkara

W' 3. Musk deer

/< 4. Barasingha

Question ID : 1501838025
Status : Answered
Chosen Option : 3

Q.5 Which of the following countries have agreed to form a joint reaction force on the border for fighting terrorism?
(A) China

(B) Afghanistan

(C) Pakistan

(D) Iran

Ans X 1. Band D
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X2 AandB
X3 AandC
V4 CandD

Question ID : 1501838013
Status : Answered
Chosen Option : 3

Q.6 The London School of Economics and Political Science (LSE) has created a new academic position in honour of:

Ans 3 1. Manmohan Singh
/< 2. Raghuram Rajan

#< 3 Arvind Subramanian
+ 4 Amartya Sen

Question ID : 1501838015
Status : Answered
Chosen Option : 4

Q7 In which year did the Indian hockey team last win an Olympic medal?

Ans  of 1. 1980
& 2. 1996
& 3. 1988
X 4. 2004

Question ID : 1501838023
Status : Answered
Chosen Option : 4

Q8 wWhat was Albert Einstein awarded Nobel Prize for?
Ans 5 1. Laws of relativity

7< 2. Theory of magnetism
« 3. Laws of photo electric effect

/< 4. Laws of gravitation

Question ID : 1501838019
Status : Answered
Chosen Option : 4

Q9 The Economic Survey of India is presented by the:
Ans 5 1. Dy. Chairman, NITI Ayog

+ 2. Finance Minister

< 3. Chief Economic Adviser

/< 4. Chairman, NITI Ayog

Question ID : 1501838027
Status : Answered
Chosen Option : 4

Q61 In which city are the Summer Olympic Games, 2020, going to be held?

Ans
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< 1. Seoul

X 2. Paris

+ 3. Tokyo

X 4 New York

Question ID : 1501838022
Status : Answered
Chosen Option : 1

Q.1 Consider the following statements.

1
1. Article 330 of the Constitution of India deals with the reservation of seats for Scheduled Castes and Scheduled Tribes
in the Lok Sabha.
2. The President nominates 2 members of the Anglo-Indian community to the Lok Sabha under Article 331 of the
Constitution of India.
3. The President nominates 1 member of the Anglo-Indian community to the Legislative Assembly of a state under
Article 333 of the Constitution of India.

Which of the above statements are correct?

Ans 5 1. 1 and 3 only
/< 2. 2and 3 only
+ 3 1and 2 only
/4 1,2and3

Question ID : 1501838016
Status : Not Answered
Chosen Option : --

Q.1 Article 371B of the Constitution of India deals with special provision with respect to the state of:

2

Ans  of 1. Assam
/< 2. Tharkhand
/< 3. Manipur

/< 4. Nagaland

Question ID : 1501838031
Status : Answered
Chosen Option : 4

Q; Which city has been named as the World Book Capital 2020 by UNESCO?
Ans X 1. Seoul
+ 2. Kuala Lumpur

/< 3. Jakarta
< 4. Dhaka

Question ID : 1501838014
Status : Not Answered
Chosen Option : --

Q1 What is the term used to refer to pollination by wind?
Ans of 1. Anemophily

/< 2. Siciophily

/< 3. Endophily
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75 4 Anemoplasty

Question ID : 1501838020
Status : Answered

Chosen Option : 1

051 With which country does Nagaland share its international border?
Ans X 1. Bhutan

« 2. Myanmar

X 3 China

/< 4. Nepal

Question ID : 1501838024
Status : Not Answered
Chosen Option : ==

Q.1 In which railway station of South Africa was Mahatma Gandhi evicted from the first class compartment of the train in
6 1893 due to racial discrimination?

Ans o 1. Pietermaritzburg
/< 2. Rustenburg

#< 3. Polokwane
/< 4. Johannesburg

Question ID : 1501838029
Status : Answered
Chosen Option : 3

Q- has the sole right to mint coins in India.

Ans X 1. The Union Commerce and Industry Ministry

o 2. The Government of India
/< 3. The Reserve Bank of India
/< 4. The Union Finance Minister

Question ID : 1501838028
Status : Answered
Chosen Option : 4

Q! Article 176 of the Constitution of India deals with special address by:
Ans  of 1. the Governor
/< 2. the Speaker of the Legislative Assembly

/5 3. the President
X 4. the Chief Minister

Question ID : 1501838018
Status : Not Answered
Chosen Option : --

°9'1 Which of the following lakes is located in Kerala?
Ans X 1. Kolleru Lake
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v 2. Vembanad Lake
& 3. Chilika Lake
X 4 Loktak Lake

Question ID : 1501838026
Status : Not Answered
Chosen Option : --

°0'2 Which of the following are present in higher amount in hard water?
Ans X 1. Calcium and sodium

/< 2. Sodium and magnesium

/< 3. Sodium and manganese

« 4 Calcium and magnesium

Question ID : 1501838021
Status : Answered
Chosen Option : 2

Section : General English

Q.1 Select the option that best gives the meaning of the underlined words.

The large canvas in which the rules and policies are laid out must be looked at carefully.
Ans X 1. Box
v 2. Framework
& 3 Outline
/< 4. Fitting

Question ID : 1501838041
Status : Answered
Chosen Option : 2

Q2 gelect the most appropriate question tag to fill in the blank.

You and I have similar likes and dislikes. ?
Ans 1. hasn’t it
A 2 wasn't it
W 3 isnt it
X 4 aren’t it

Question ID : 1501838061
Status : Answered
Chosen Option : 4

Q.3 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to form a
meaningful and coherent paragraph.

A. We found it unusually cold there.
B. We rushed to a garment shop to buy some warm clothing.

C. We arrived at Shimla.
D. We realised we had not carried our woollens with vs.

Ans X 1. ACDB
v 2. CADB
X 3. CBAD
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X 4 BCDA

Question ID : 1501838071
Status : Answered
Chosen Option : 2

Q4 Select the most appropriate option to fill in the blank.

I found my purse lying the dressing table.

Ans & 1. among
v 2. beside
#< 3. within
< 4. between

Question ID : 1501838056
Status : Answered
Chosen Option : 2

Q.5 Select the option that best gives the meaning of the underlined words.

Radha is a person who is talented in many different facets of life and can easily win over people.

Ans X 1. Famous
/< 2. Impressive
v 3 Versatile
< 4 Ambitious

Question ID : 1501838039
Status : Answered
Chosen Option : 3

Q6 Select the most appropriate ANTONYM of the given word.

AMBIGUOUS
Ans 3 1. Bright
/< 2. Faded
& 3. Unclear
W 4 Clear

Question ID : 1501838037
Status : Answered
Chosen Option : 4

Q7 Select the INCORRECTLY spelt word.

Ans X 1. Finite
/< 2. Flounder
\f3- Founten

/X 4 Fiery

Question ID : 1501838048
Status : Answered
Chosen Option : 3
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Q8 Select the most appropriate synonym of the given word.

ELEGANT

Ans 3 1. Unappealing
/< 2. Heavy

« 3. Stylish

/< 4. Insignificant

Question ID : 1501838033
Status : Answered
Chosen Option : 3

Q9 Select the INCORRECTLY spelt word.

Ans X 1. Altitude
# 2. Business
/< 3. Intimacy
v 4 Atitude

Question ID : 1501838047
Status : Answered
Chosen Option : 4

Q.1 Parts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

0
A. I had given up hope
B. all of a sudden
C. and thought my chain was stolen
D. when I found it

Ans o 1. ACDB
X 2. ADCB
X 3. BCAD
X 4 BACD

Question ID : 1501838064
Status : Answered
Chosen Option : 4

Q1 Select the most appropriate option to fill in the blank.

I have understood the situation. You repeat what you just said.

Ans  of 1. needn’t
& 2 couldn’t
X 3 can’t
X 4 wouldn’t

Question ID : 1501838059
Status : Answered
Chosen Option : 1

Q.1 i »
5 Select the most appropriate ANTONYM of the given word.

MIGHTY
Ans X 1. Large
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/< 2. Gigantic
« 3. Slight
X 4 Big

Question ID : 1501838038
Status : Answered
Chosen Option : 3

Q.1 - : -
5 Select the most appropriate option to fill in the blank.

The ftrain at a very high speed when the accident happened.
Ans 3 1. is running

7% 2. has run
25 3. was ran

+ 4 was running

Question ID : 1501838054
Status : Answered
Chosen Option : 4

@1 Select the INCORRECTLY spelt word.
Ans  of 1. Immidiately

/< 2. Psychology
/X 3. Caution
X 4. Acclimatise

Question ID : 1501838046
Status : Answered
Chosen Option : 1

Q.1 Parts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

5
A. internet has changed the lives

B. on any matter
C. to search information
D. of most people as it has enabled them

Ans X 1. ABDC
X 2. CBAD
X 3. BADC
v 2 ADCB

Question ID : 1501838065
Status : Answered
Chosen Option : 4

Q.1

¢ Select the most appropriate option to complete the sentence.

Rahul said that he by a policeman last night.
Ans o 1. had been stopped

/< 2. has been stopping

/< 3. was stopping
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/< 4. is being stopped

Question ID : 1501838050
Status : Answered
Chosen Option : 1

Q.1 Parts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

7

A. when he grows up

B. and wants to play for his country

C. Rahul, who loves cricket

D. is being coached at the Vasant Vihar Club

Ans X' 1. ACDB
v 2. CBAD
X 3. CABD
X 4 ABCD

Question ID : 1501838067
Status : Answered
Chosen Option : 3

Q8-1 Select the option that best gives the meaning of the underlined words.

“Life is a big story which does not have answers,” said the wise old man.
Ans  of 1. Mystery

#< 2. Anecdote

/< 3. Folktale

& 4 Novel

Question ID : 1501838042
Status : Answered
Chosen Option : 1

Q! Select the correctly spelt word.
Ans 3 1. Trigered

v 2. Bloated

75 3. Aplication

/< 4. Faught

Question ID : 1501838043
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate option to fill in the blank.

0
The teacher told the students that they  have been more careful while crossing the river.
Ans x 1. can
v 2. should
< 3 would
X 4 shall

Question ID : 1501838060
Status : Answered
Chosen Option : 2
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Q.2 8 ~ :
4~ Select the most appropriate option to fill in the blank.

Where have vou  the book? I can’t find it.
Ans  of 1. hidden

< 2. hides

< 3. hide

/< 4. hiding

Question ID : 1501838053
Status : Answered
Chosen Option : 3

Q.2 select the most appropriate option to fill in the blank

? “Excuse me, do vou speak English?” I asked some passersby  Paris when I visited it last year.
Ans x 1. of
v 2 in
X 3 for
X 4 with

Question ID : 1501838055
Status : Answered
Chosen Option : 2

Q.2 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to form a
3 meaningful and coherent paragraph.

A. When the secretary informed them that he would not be back soon, they left.
B. They seemed very agitated and wanted to meet him.

C. Some ladies gathered outside the Association President’s office.
D. They waited for two hours.

Ans o 1. CBDA
X 2. CADB
X 3. CDAB
X 4 CDBA

Question ID : 1501838070
Status : Answered
Chosen Option : 1

Q S ~ .
42 Select the most appropriate option to fill in the blank.

Aanya can speak French , but she can’t speak German.
Ans 3 1. specially

X 2. greatly

/< 3. poorly

W 4 fluently

Question ID : 1501838058
Status : Answered
Chosen Option : 4

Q.2
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Select the option that best gives the meaning of the underlined words.

Let’s look at our areas of weakness before we point fingers at others.

Ans 5 1. Descriptions

X 2. Performance
/< 3. Strengths

« 4 Inadequacies

Question ID : 1501838040
Status : Answered
Chosen Option : 4

Q2 3
e Select the correctly spelt word.

Ans X 1. Featurred
< 2. Formulla
& 3. Fisure
+ 4 Phishing

Question ID : 1501838045
Status : Answered
Chosen Option : 2

Q.2 :
5 Select the correctly spelt word.

Ans X 1. Grammer
/< 2. Tlogical
« 3 Trreplaceable
X 4. Appearence

Question ID : 1501838044
Status : Answered
Chosen Option : 4

Q.2 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to forma
8 meaningful and coherent paragraph.

A. Rishi enjoyed the movie while Sanjay found it boring.
B. “Let’s see a movie today”, said Rishi to his friend Sanjay.

C. They went to see an English movie which had subtitles in Hindi.
D. Sanjay decided he would not see an English movie again.

Ans X 1. DABC
X 2 DCBA
X 3. BADC
v 2 BCAD

Question ID : 1501838069
Status : Answered
Chosen Option : 4

Qéz Select the most appropriate synonym of the given word.

MASSIVE
Ans 1. Fearful
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/< 2. Respectable

+ 3 Gigantic
75 4. Puny

Question ID : 1501838034
Status : Answered
Chosen Option : 3

Q3 o - :
o  Select the most appropriate option to fill in the blank.

The  you go in the mountains, the lesser the oxygen level.
Ans 3 1. more higher
7% 2. highest
o 3. higher
/< 4. more high

Question ID : 1501838057
Status : Answered
Chosen Option : 3

Q3 g : .
5 Select the most appropriate question tag to fill in the blank.

You have bought the tickets for the play,  ?
Ans % 1. hadn’t you

X 2 wasn’t it

« 3. haven’t you

/< 4. aren’t you

Question ID : 1501838062
Status : Answered
Chosen Option : 3

Q.3 Parts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.
2

A. were hit from the back by a truck and

B. three people who

C. were riding on a motorbike

D. they fell on the road

Ans X 1. DACB
v 2. BCAD
X 3. DABC
X 4 BACD

Question ID : 1501838066
Status : Answered
Chosen Option : 2

Q?;?’ Select the most appropriate option to fill in the blank.

A major fire at a chemical factory in Delhi on Thursday afternoon.
Ans 1. broke in
v 2. broke out
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#< 3. broke off
/< 4. broke away

Question ID : 1501838049
Status : Answered
Chosen Option : 2

Q.3 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to forma
4  meaningful and coherent paragraph.

A. Tt is more a matter of a person’s attitude to life.
B. Optimism is not a complicated philosophy or school of thought.

C. While an optimist always look at things with hope, a pessimist sees the dark and bad side of things.
D. Such a person takes a bright and positive view of life.

Ans X 1. CADB
X 2. BCDA
v 3. BADC
X 4 CBDA

Question ID : 1501838072
Status : Answered
Chosen Option : 4

Q.3 Parts of a sentence are given below in jumbled order. Arrange the parts in the right order to form a meaningful sentence.
A. for allegedly snatching a gold chain from
B. amob chased a biker
C. a woman who was going to the metro station
D. and lynched him
Ans X 1. BCDA
X 2. CABD
X 3. CBDA

« 4 BDAC

Question ID : 1501838063
Status : Answered
Chosen Option : 3

Q.3 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the right order to form a
6 meaningful and coherent paragraph.

A Reena studied hard for her maths exam.
B. However, Reena completed the paper well in time as she was well prepared.

C. Most of the students could not attempt all the questions.
D. The examination paper was tough.

Ans X 1. DCBA
X 2. BACD
X 3. ACBD
v 2 ADCB

Question ID : 1501838068
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate option to fill in the blank.
7

“Why did you the hall before the seminar was over?” the teacher asked the pupil.

Ans x 1. left
v 2. leave
X< 3 exited
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/< 4. leaving

Question ID : 1501838052
Status : Answered

Chosen Option : 1

°é3 Select the most appropriate synonym of the given word.

PERTINENT
Ans  of 1. Relevant
/X 2. Large
X 3 Small

& 4. Foolish

Question ID : 1501838035
Status : Answered
Chosen Option : 1

Q§3 Select the most appropriate option to fill in the blank.

Heat wave conditions are being reported from many parts of the country.

Ans X 1. earlier
/< 2. tomorrow
3. now

/< 4. yesterday

Question ID : 1501838051
Status : Answered
Chosen Option : 3

Q4 i »
o Select the most appropriate ANTONYM of the given word.

ENOWLEDGE
Ans o 1 Ignorance
/< 2. Intelligence

7% 3. Assurance

75 4. Education

Question ID : 1501838036
Status : Answered
Chosen Option : 1

Comprehension:
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Q.4
1

Ans

Read the following passage and answer the questions that follow.

Captain Laxmi Sehgal is one of the lion hearted women India ever
had. She picked up the Gun for the Indian National Army (INA)
founded by Netaji Subhas Chandra Bose and led it like a tigress
during the struggle for Indian freedom.

Laxmi Sehgal was born in 1914 to a traditional Tamil family. She
got her first patriotic lessons from her mother who was a member of
the Congress herself. She completed her degree in medicine from the
Madras Medical College and went to Singapore for a career as a
doctor. However, something very different was waiting for her there.
Singapore at that time, was ruled by the British and they had to
surrender when the Japanese invaded the country. Thousands of
Indians were taken as prisoners. At this juncture, Netaji invited the
Indian prisoners to join the INA and fight against the British. Laxmi
was one of them and Netaji was impressed by her courage and asked
her to lead the Rani Jhansi Regiment. She fought like a tigress against
the British in the jungles of Burma.

TLakshmi Sehgal stands out largely due to her belief in using violence
if necessary to get India her freedom. She fought the British at every
opportunity she got and was placed under house arrest for two
years, but still passively resisted the British.

Until her death in 2012 Captain Laxmi Sehgal had the same
indomitable attitude after India became independent and, while
practicing as a doctor in Kanpur, she continued working for the
betterment of society.

Relief camps were organised by her during the Bangladesh crisis for
refugees in Calcutta.

She played a key role in providing medical facilities to the victims of
the Bhopal gas tragedy. She also worked to restore peace after the
1984 anti-Sikh riots. In a campaign against the Miss Waorld
competition in Bangalore, she was arrested.

She wrote an autobiography which details her inspiring life and
features some never-seen-before pictures.

SubQuestion No : 41

When the writer says, “However, something very different
was waiting for her there,” he means she would:

« . participate in the struggle for India’s independence
/< 2. become an active politician

< 3. become a famous doctor
/< 4. be imprisoned and face hardships

GET IT ON
Google Play
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Question ID : 1501838076
Status : Not Answered
Chosen Option : --

Comprehension:
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Read the following passage and answer the questions that follow.

Captain Laxmi Sehgal is one of the lion hearted women India ever
had. She picked up the Gun for the Indian National Army (INA)
founded by Netaji Subhas Chandra Bose and led it like a tigress
during the struggle for Indian freedom.

TLaxmi Sehgal was born in 1914 to a traditional Tamil family. She
got her first patriotic lessons from her mother who was a member of
the Congress herself. She completed her degree in medicine from the
Madras Medical College and went to Singapore for a career as a
doctor. However, something very different was waiting for her there.
Singapore at that time, was ruled by the British and they had to
surrender when the Japanese invaded the country. Thousands of
Indians were taken as prisoners. At this juncture, Netaji invited the
Indian prisoners to join the INA and fight against the British. Laxmi
was one of them and Netaji was impressed by her courage and asked
her to lead the Rani Jhansi Regiment. She fought like a tigress against
the British in the jungles of Burma.

TLakshmi Sehgal stands out largely due to her belief in using violence
if necessary to get India her freedom. She fought the British at every
opportunity she got and was placed under house arrest for two
years, but still passively resisted the British.

Until her death in 2012 Captain Laxmi Sehgal had the same
indomitable attitude after India became independent and, while
practicing as a doctor in Kanpur, she continued working for the
betterment of society.

Relief camps were organised by her during the Bangladesh crisis for
refugees in Calcutta.

She played a key role in providing medical facilities to the victims of
the Bhopal gas tragedy. She also worked to restore peace after the
1984 anti-Sikh riots. In a campaign against the Miss Waorld
competition in Bangalore, she was arrested.

She wrote an autobiography which details her inspiring life and
features some never-seen-before pictures.

SubQuestion No : 42

Q,L;“ She got her first inspiration to fight for the country’s
freedom from:

Ans X 1. prisoners of war whom she met in Singapore
/< 2. the Japanese who invaded Singapore
« 3. her mother who worked for the Congress

/< 4. Subhas Chandra Bose who was fighting against the British

Question ID : 1501838075
Status : Not Answered
Chosen Option : --

Comprehension:

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/125801992/125801992S3D1631/1559019681388187/157...  57/65


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

29/05/2019 https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1/125801992/125801992S3D1631/1559019681....
Read the following passage and answer the questions that follow.

Captain Laxmi Sehgal is one of the lion hearted women India ever
had. She picked up the Gun for the Indian National Army (INA)
founded by Netaji Subhas Chandra Bose and led it like a tigress
during the struggle for Indian freedom.

Laxmi Sehgal was born in 1914 to a traditional Tamil family. She
got her first patriotic lessons from her mother who was a member of
the Congress herself. She completed her degree in medicine from the
Madras Medical College and went to Singapore for a career as a
doctor. However, something very different was waiting for her there.
Singapore at that time, was ruled by the British and they had to
surrender when the Japanese invaded the country. Thousands of
Indians were taken as prisoners. At this juncture, Netaji invited the
Indian prisoners to join the INA and fight against the British. Laxmi
was one of them and Netaji was impressed by her courage and asked
her to lead the Rani Jhansi Regiment. She fought like a tigress against
the British in the jungles of Burma.

TLakshmi Sehgal stands out largely due to her belief in using violence
if necessary to get India her freedom. She fought the British at every
opportunity she got and was placed under house arrest for two
years, but still passively resisted the British.

Until her death in 2012 Captain Laxmi Sehgal had the same
indomitable attitude after India became independent and, while
practicing as a doctor in Kanpur, she continued working for the
betterment of society.

Relief camps were organised by her during the Bangladesh crisis for
refugees in Calcutta.

She played a key role in providing medical facilities to the victims of
the Bhopal gas tragedy. She also worked to restore peace after the
1984 anti-Sikh riots. In a campaign against the Miss Waorld
competition in Bangalore, she was arrested.

She wrote an autobiography which details her inspiring life and
features some never-seen-before pictures.

SubQuestion No : 43

%4 Captain Laxmi Sehgal had an ‘indomitable attitude’. This
means she was:

Ans X 1. kind hearted
W 2. fearless
/< 3. dominating

/< 4. helpful

Question ID : 1501838077
Status : Not Answered
Chosen Option : --

Comprehension:
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Read the following passage and answer the questions that follow.

Captain Laxmi Sehgal is one of the lion hearted women India ever
had. She picked up the Gun for the Indian National Army (INA)
founded by Netaji Subhas Chandra Bose and led it like a tigress
during the struggle for Indian freedom.

TLaxmi Sehgal was born in 1914 to a traditional Tamil family. She
got her first patriotic lessons from her mother who was a member of
the Congress herself. She completed her degree in medicine from the
Madras Medical College and went to Singapore for a career as a
doctor. However, something very different was waiting for her there.
Singapore at that time, was ruled by the British and they had to
surrender when the Japanese invaded the country. Thousands of
Indians were taken as prisoners. At this juncture, Netaji invited the
Indian prisoners to join the INA and fight against the British. Laxmi
was one of them and Netaji was impressed by her courage and asked
her to lead the Rani Jhansi Regiment. She fought like a tigress against
the British in the jungles of Burma.

TLakshmi Sehgal stands out largely due to her belief in using violence
if necessary to get India her freedom. She fought the British at every
opportunity she got and was placed under house arrest for two
years, but still passively resisted the British.

Until her death in 2012 Captain Laxmi Sehgal had the same
indomitable attitude after India became independent and, while
practicing as a doctor in Kanpur, she continued working for the
betterment of society.

Relief camps were organised by her during the Bangladesh crisis for
refugees in Calcutta.

She played a key role in providing medical facilities to the victims of
the Bhopal gas tragedy. She also worked to restore peace after the
1984 anti-Sikh riots. In a campaign against the Miss Waorld
competition in Bangalore, she was arrested.

She wrote an autobiography which details her inspiring life and
features some never-seen-before pictures.

SubQuestion No : 44

°44 Working for the refugees of Bangladesh or Bhopal tragedy
victims shows which of the following traits of her
character?

Ans 5 1. She was a freedom fighter till the end.
75 2. She liked working for fame and name.
/< 3. She disliked treating patients even in old age.

4 Social welfare was dear to her.

Question ID : 1501838078
Status : Not Answered
Chosen Option : --

Comprehension:
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Read the following passage and answer the questions that follow.

Captain Laxmi Sehgal is one of the lion hearted women India ever
had. She picked up the Gun for the Indian National Army (INA)
founded by Netaji Subhas Chandra Bose and led it like a tigress
during the struggle for Indian freedom.

TLaxmi Sehgal was born in 1914 to a traditional Tamil family. She
got her first patriotic lessons from her mother who was a member of
the Congress herself. She completed her degree in medicine from the
Madras Medical College and went to Singapore for a career as a
doctor. However, something very different was waiting for her there.
Singapore at that time, was ruled by the British and they had to
surrender when the Japanese invaded the country. Thousands of
Indians were taken as prisoners. At this juncture, Netaji invited the
Indian prisoners to join the INA and fight against the British. Laxmi
was one of them and Netaji was impressed by her courage and asked
her to lead the Rani Jhansi Regiment. She fought like a tigress against
the British in the jungles of Burma.

TLakshmi Sehgal stands out largely due to her belief in using violence
if necessary to get India her freedom. She fought the British at every
opportunity she got and was placed under house arrest for two
years, but still passively resisted the British.

Until her death in 2012 Captain Laxmi Sehgal had the same
indomitable attitude after India became independent and, while
practicing as a doctor in Kanpur, she continued working for the
betterment of society.

Relief camps were organised by her during the Bangladesh crisis for
refugees in Calcutta.

She played a key role in providing medical facilities to the victims of
the Bhopal gas tragedy. She also worked to restore peace after the
1984 anti-Sikh riots. In a campaign against the Miss Waorld
competition in Bangalore, she was arrested.

She wrote an autobiography which details her inspiring life and
features some never-seen-before pictures.

SubQuestion No : 45
Qé“ Lakshmi is called ‘lion hearted® because she:

Ans 3 1. could kill a lion with a gun
+ 2. had the courage of a lion
/< 3. had a strong build like a lion

< 4. was afraid of lions

Question ID : 1501838074
Status : Not Answered
Chosen Option : --
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Read the following passage and answer the questions that follow.

The entire cosmos exists in a state of mutual dependence and
support.

Living in accordance with this principle of universal harmony is
what is known as dharma. The sorrow of every living being in this
world is our own sorrow, and the happiness of every living being is
our own happiness. In harming others, we harm ourselves. Similarly,
when we help others, we are helping ourselves.

A man sits with a candle in front of his house at night. A sudden
wind blows out the candlelight. It is only then that his eyes are
opened to the beauty of the smiling full moon and the cool
moonlight. Similarly, when we give up our selfishness, the bliss we
receive in return is great.

We should strive to reach a state in which we are able to view all
beings of the world, both animate and inanimate, as a part of our
own Self. Just as the right hand reaches out to aid the left hand when
it is injured, the ability to feel the sufferings of all beings as our own,
and an intense yearning to comfort them, should awaken within us....
The goal of all religions is one — purification ofthe human mind. To
overcome our selfishness, to love and serve our fellow beings, to rise
to the level of universal consciousness — these goals are common to
all religions. The core of religion is to foster these human values and
awalken the innate divinity in people.

Though the founders of all religions realised and practiced the
noblest ideals in their lives, their followers have often not lived up to
those ideals. Instead of focussing on the essence of the religious
principles of love and compassion, they focus on the external rituals
and traditions, which vary from religion to religion, which does more
harm than good.

SubQuestion No : 46
%4 What does the writer NOT approve of?

Ans 3 1. Practicing the high ideals taught by their heads
« 2. Outward show of religious beliefs and practices
/< 3. Telling followers to live a life of ideals

/X 4. Spreading love and compassion among followers

Question ID : 1501838084
Status : Not Answered
Chosen Option : --

Comprehension:
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Read the following passage and answer the questions that follow.

The entire cosmos exists in a state of mutual dependence and
support.

Living in accordance with this principle of universal harmony is
what is known as dharma. The sorrow of every living being in this
world is our own sorrow, and the happiness of every living being is
our own happiness. In harming others, we harm ourselves. Similarly,
when we help others, we are helping ourselves.

A man sits with a candle in front of his house at night. A sudden
wind blows out the candlelight. It is only then that his eyes are
opened to the beauty of the smiling full moon and the cool
moonlight. Similarly, when we give up our selfishness, the bliss we
receive in return is great.

We should strive to reach a state in which we are able to view all
beings of the world, both animate and inanimate, as a part of our
own Self. Just as the right hand reaches out to aid the left hand when
it is injured, the ability to feel the sufferings of all beings as our own,
and an intense yearning to comfort them, should awaken within us....
The goal of all religions is one — purification ofthe human mind. To
overcome our selfishness, to love and serve our fellow beings, to rise
to the level of universal consciousness — these goals are common to
all religions. The core of religion is to foster these human values and
awalken the innate divinity in people.

Though the founders of all religions realised and practiced the
noblest ideals in their lives, their followers have often not lived up to
those ideals. Instead of focussing on the essence of the religious
principles of love and compassion, they focus on the external rituals
and traditions, which vary from religion to religion, which does more
harm than good.

SubQuestion No : 47
°7'4 It is only when we stop thinking about our own welfare will
we:
Ans 5 1. find ourselves at a great loss
& 2 find sorrow all around

« 3. find real happiness

< 4. hurt ourselves

Question ID : 1501838081
Status : Not Answered
Chosen Option : --
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Read the following passage and answer the questions that follow.

The entire cosmos exists in a state of mutual dependence and
support.

Living in accordance with this principle of universal harmony is
what is known as dharma. The sorrow of every living being in this
world is our own sorrow, and the happiness of every living being is
our own happiness. In harming others, we harm ourselves. Similarly,
when we help others, we are helping ourselves.

A man sits with a candle in front of his house at night. A sudden
wind blows out the candlelight. It is only then that his eyes are
opened to the beauty of the smiling full moon and the cool
moonlight. Similarly, when we give up our selfishness, the bliss we
receive in return is great.

We should strive to reach a state in which we are able to view all
beings of the world, both animate and inanimate, as a part of our
own Self. Just as the right hand reaches out to aid the left hand when
it is injured, the ability to feel the sufferings of all beings as our own,
and an intense yearning to comfort them, should awaken within us....
The goal of all religions is one — purification ofthe human mind. To
overcome our selfishness, to love and serve our fellow beings, to rise
to the level of universal consciousness — these goals are common to
all religions. The core of religion is to foster these human values and
awalken the innate divinity in people.

Though the founders of all religions realised and practiced the
noblest ideals in their lives, their followers have often not lived up to
those ideals. Instead of focussing on the essence of the religious
principles of love and compassion, they focus on the external rituals
and traditions, which vary from religion to religion, which does more
harm than good.

SubQuestion No : 48
Qé“ What state of mind does the writer want us to have?

Ans o 1. Understand the sufferings of all life forms.

75 2. Realise that all life is around us.

/< 3. Realise that we should live a life of principles.

/< 4. Realise that human beings are superior to animals.

Question ID : 1501838083
Status : Not Answered
Chosen Option : --
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Read the following passage and answer the questions that follow.

The entire cosmos exists in a state of mutual dependence and
support.

Living in accordance with this principle of universal harmony is
what is known as dharma. The sorrow of every living being in this
world is our own sorrow, and the happiness of every living being is
our own happiness. In harming others, we harm ourselves. Similarly,
when we help others, we are helping ourselves.

A man sits with a candle in front of his house at night. A sudden
wind blows out the candlelight. It is only then that his eyes are
opened to the beauty of the smiling full moon and the cool
moonlight. Similarly, when we give up our selfishness, the bliss we
receive in return is great.

We should strive to reach a state in which we are able to view all
beings of the world, both animate and inanimate, as a part of our
own Self. Just as the right hand reaches out to aid the left hand when
it is injured, the ability to feel the sufferings of all beings as our own,
and an intense yearning to comfort them, should awaken within us....
The goal of all religions is one — purification ofthe human mind. To
overcome our selfishness, to love and serve our fellow beings, to rise
to the level of universal consciousness — these goals are common to
all religions. The core of religion is to foster these human values and
awalken the innate divinity in people.

Though the founders of all religions realised and practiced the
noblest ideals in their lives, their followers have often not lived up to
those ideals. Instead of focussing on the essence of the religious
principles of love and compassion, they focus on the external rituals
and traditions, which vary from religion to religion, which does more
harm than good.

SubQuestion No : 49

Q4

o Living in accordance with this principle of universal

harmony is what is known as dharma. What principle is
referred in this sentence?

Ans X1 The entire world is very big and different life forms exist
 here.

X 2. Helping ourselves is extremely essential and is a universal
law of life.

+ 3 That all life forms are interdependent and must live as one.

75 4. Universally, all living beings help and love each other.

Question ID : 1501838080
Status : Not Answered
Chosen Option : ==
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Read the following passage and answer the questions that follow.

The entire cosmos exists in a state of mutual dependence and
support.

Living in accordance with this principle of universal harmony is
what is known as dharma. The sorrow of every living being in this
world is our own sorrow, and the happiness of every living being is
our own happiness. In harming others, we harm ourselves. Similarly,
when we help others, we are helping ourselves.

A man sits with a candle in front of his house at night. A sudden
wind blows out the candlelight. It is only then that his eyes are
opened to the beauty of the smiling full moon and the cool
moonlight. Similarly, when we give up our selfishness, the bliss we
receive in return is great.

We should strive to reach a state in which we are able to view all
beings of the world, both animate and inanimate, as a part of our
own Self. Just as the right hand reaches out to aid the left hand when
it is injured, the ability to feel the sufferings of all beings as our own,
and an intense yearning to comfort them, should awaken within us....
The goal of all religions is one — purification ofthe human mind. To
overcome our selfishness, to love and serve our fellow beings, to rise
to the level of universal consciousness — these goals are common to
all religions. The core of religion is to foster these human values and
awalken the innate divinity in people.

Though the founders of all religions realised and practiced the
noblest ideals in their lives, their followers have often not lived up to
those ideals. Instead of focussing on the essence of the religious
principles of love and compassion, they focus on the external rituals
and traditions, which vary from religion to religion, which does more
harm than good.

SubQuestion No : 50

st In this sentence, ‘...an intense yearning to comfort them,
should awaken within us...”, the phrase ‘intense yearning’
means:

Ans X 1. being proud
/< 2. desire to wake up
o 3. great desire

< 4. sense of anger

Question ID : 1501838082
Status : Not Answered
Chosen Option : --
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